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�О�!�!&��� ��!� О�О��О�О ��&� $��!� 

�одE8Eте<4 5еEпDо6од=о7о 8=теDDе9E4 (д4лее ���) пDед=47=4Gе=4 длO 46то<4т874F88 D45отK 
л45оD4тоD88 ко=тDолO к4GеEт64 =еDтепDодукто6. 
��� Dе4л87ует EледуNI8е Dу=кF88: 
 46то<4т8GеEк4O пеDед4G4 =4 �К Dе7улLт4то6 8EпKт4=89 E 4пп4D4то6, =4EодOI8EEO 6 л45оD4то-

D88 по 5еEпDо6од=о<у к4=4лу E6O78 (Eт4=д4Dт IEEE 802.15.4/ZigBee); 
 =4дU6=ое ED4=е=8е полуGе==о9 от 4пп4D4то6 8=DоD<4F88 6 ед8=о9 547е д4==KE; 
 удо5=ое, Eт4=д4Dт87о64==ое пDедEт46ле=8е 8=DоD<4F88 полL7о64телN (6 т45л8G=о<, 7D4D8-

GеEко<, пеG4т=о< 68де); 
 пDедоEт46ле=8е EDедEт6 длO MDDект86=о9 D45отK E Dе7улLт4т4<8 8EпKт4=89, EDедEт6 длO D4E-

GUт4 тоG=оEт=KE E4D4ктеD8Eт8к по Eт4=д4Dт=K< <етод4<. 
��� о5еEпеG864ет E6O7L =4 D4EEтоO=88 до 100 < 6 по<еIе=88, 6Eе 4пп4D4тK ЛинтеЛ® <о7ут 5KтL 
о5Jед8=е=K 6 ед8=уN EетL. 

�пп4D4тK ЛинтеЛ® оE=4Iе=K пDо7D4<<=о-4пп4D4т=K<8 EDедEт64<8, о5еEпеG864NI8<8 D45оту 
4пп4D4т4 E ���1. 

 
�лO D45отK E8Eте<K =ео5Eод8<о пD8о5DеEт8 8 уEт4=о68тL D4д8о<оде< E USB 8=теDDе9Eо< 8 
пDо7D4<<=ое о5еEпеGе=8е длO пеDEо=4лL=о7о ко<пLNтеD4. �Dо7D4<<=ое о5еEпеGе=8е 6клNG4ет 
6 Eе5O дD496еD D4д8о<оде<4 8 пDо7D4<<у ЛинтеЛ®-Л��К. 
 е7улLт4тK 8EпKт4=89 46то<4т8GеEк8 пеDед4NтEO 6 547у д4==KE, Gто упDоI4ет доEтуп к д4==K< 8 
7D4D8к4<, по76олOет по6KE8тL к4GеEт6о D45отK, 4 т4к6е 87546лOет от 5олLH8=Eт64 Dут8==KE опе-
D4F89. 
 

 

 

 

 

 

 

                                                      
1 �4 допол=8телL=о9 8=DоD<4F8е9 о5D4I49теEL по тел. (347) 284-44-36, 284-27-47. 



�О �!К� «�еDтеE8<46то<4т8к4» 

!о6Dе<е==Oе 4пп4D4тO длO ко=тDолO к4GеEт64 =еDтепDодукто6 

�л47од4D8< �4E 74 пD8о5Dете=8е 8 8EполL7о64=8е ЛинтеЛ® КD8Eт4лл-20Э – 4пп4D4т4 л45оD4тоD-
=о7о 46то<4т8GеEко7о длO уEкоDе==о7о опDеделе=8O те<пеD4туD кD8Eт4лл874F88 8 74<еD74=8O. 

�О �!К� «�еDтеE8<46то<4т8к4» E 1959 7. пDо876од8т 8 поEт46лOет 4пп4D4тK длO ко=тDолO к4Gе-
Eт64 =еDтепDодукто6 6 л45оD4тоD88 746одо6, 4MDопоDто6, пDедпD8Oт89 топл86=о-M=еD7ет8GеEко7о 
ко<плекE4. 
�4H8 4пп4D4тK Dе4л87уNт !&���� &�Ы� ��&О�Ы, пDоHл8 <етDоло78GеEкуN 4ттеEт4F8N, 6клN-
Gе=K 6 �� 2418-97 «Кл4EE8D8к4F8O 8 пD8<е=е=8е теE=8GеEк8E EDедEт6 8EпKт4=89 =еDтепDодук-
то6» 8 Eоот6етEт6уNI8е �О!&K к4к EDедEт64 Dе4л874F88 <етодо6 ко=тDолO к4GеEт64. 
� 4пп4D4т4E пDедуE<отDе=K EпеF84лL=Kе DеHе=8O, по76олONI8е Dе4л87о6K64тL кDо<е Eт4=-
д4Dт=KE <етодо6 8 <етодK длO 6Kпол=е=8O 8EEледо64=89, Gто оEо5е==о 646=о пD8 D47D45отке 
=о6KE 68до6 пDодукF88. �О �!К� «�еDтеE8<46то<4т8к4» пD8<е=Oет =о6е9H8е теE=оло788 8 
ко<по=е=тK длO о5еEпеGе=8O Eт458лL=о 6KEоко7о к4GеEт64 4пп4D4то6, удо5Eт64 8E MкEплу4т4F88, 
E FелLN EокD4Iе=8O 74тD4т 6Dе<е=8 =4 8EпKт4=8O 8 по6KHе=8O MDDект86=оEт8 �4Hе9 D45отK. 
 

� пD8о5Dете==о< �4<8 4пп4D4те ЛинтеЛ® КD8Eт4лл-20Э пD8<е=е=K луGH8е доEт86е=8O 6 D47D4-
5отк4E 87дел89 д4==о7о т8п4: 
 Eо6Dе<е==4O <8кDопDоFеEEоD=4O E8Eте<4 упD46ле=8O E пDе8<уIеEт6е==K< 8EполL7о64=8е< 

8<поDт=KE ко<плектуNI8E 8 у7ло6 по6KHе==о9 =4дU6=оEт8; 
 7D4D8GеEк89 д8Eпле9, E8Eте<4 подEк47ок 8 E4<од847=оEт8к8 по6KH4Nт удо5Eт6о �4Hе9 D45о-

тK, 4 т4к6е по76олONт EокD4т8тL 6Dе<O =4 оE6ое=8е 4пп4D4т4; 

 46то<4т8GеEк89 ко=тDолL п4D4<етDо6 6о 6Dе<O 8EпKт4=8O о5D47F4, 4 т4к6е пеDед4G4 8E =4 
пеDEо=4лL=K9 ко<пLNтеD по 5еEпDо6од=о<у 8=теDDе9Eу, 8л8 GеDе7 8=теDDе9E RS-232; 

 EоED4=е=8е 6 п4<Oт8 Dе7улLт4то6 8EпKт4=89; 
 8=те7D4F8O 6 Л45оD4тоD=уN �=DоD<4F8о==уN !8Eте<у ЛинтеЛ® Л�!1. 

                                                      
1 �оEт46лOетEO по отделL=о<у 74к47у. 
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 уко6одEт6о по MкEплу4т4F88 EодеD68т E6еде=8O о ко=EтDукF88, пD8=F8пе де9Eт68O, E4D4ктеD8-
Eт8к4E 4пп4D4т4 46то<4т8GеEко7о ЛинтеЛ® КD8Eт4лл-20Э 8 ук474=8O, =ео5Eод8<Kе длO е7о пD4-
68лL=о9 8 5е7оп4E=о9 MкEплу4т4F88. 

1 !��!ОК � ��/&/% !ОК �Щ���� 

�пп4D4т – 4пп4D4т 46то<4т8GеEк89 ЛинтеЛ® КD8Eт4лл-20Э. 

�К – пеDEо=4лL=K9 ко<пLNтеD. 
T=к – те<пеD4туD4 =4G4л4 кD8Eт4лл874F88, D8кE8Dуе<4O пD8 E=86е=88 пDо7D4G=оEт8 пDо5K 6 пDо-
FеEEе кD8Eт4лл874F88. 
&7 – те<пеD4туD4 74<еD74=8O, D8кE8Dуе<4O пD8 6оEEт4=о6ле=88 пDо7D4G=оEт8 пDо5K. 
&MIN – <8=8<4лL=4O те<пеD4туD4, до котоDо9 оEл4д8л4EL пDо54 пеDед E4<оD47о7Dе6о< 6 пDоFеEEе 
кD8Eт4лл874F88. 
TMAX – <4кE8<4лL=4O те<пеD4туD4, до котоDо9 D47о7Dел4EL пDо54 пD8 поO6ле=88 кD8Eт4лло6. 

2 О��!���� �  ��О&� 

2.1 �47=4Gе=8е 

�пп4D4т 46то<4т8GеEк89 л45оD4тоD=K9 ЛинтеЛ® КD8Eт4лл-20Э 877ото6ле= Eо7л4E=о 
�&� .441336.063 &', O6лOетEO 8EпKт4телL=K< о5оDудо64=8е< =4EтолL=о7о т8п4 8 пDед=47=4Gе= 
длO уEкоDе==о7о опDеделе=8O те<пеD4туD кD8Eт4лл874F88 8 74<еD74=8O 6 Eоот6етEт688 Eо Eт4=-
д4Dт4<8: 

– �О!& 5066.&опл864 <отоD=Kе. �етодK опDеделе=8O те<пеD4туD по<ут=е=8O, =4G4л4 кD8Eт4лл8-
74F88 8 74<еD74=8O; 
– �О!&   53706.&опл864 4684F8о==Kе. �етод опDеделе=8O те<пеD4туDK 74<еD74=8O; 
– �О!& 18995.5. �DодуктK E8<8GеEк8е оD74=8GеEк8е. �етод опDеделе=8O те<пеD4туDK кD8Eт4лл8-
74F88; 
– ISO 3013. Petroleum products — Determination of the freezing point of aviation fuels; 

– ASTM D2386. Standard test method for freezing point of aviation fuels. 

2.2 &еE=8GеEк8е E4D4ктеD8Eт8к8 

2.2.1 ЭкEплу4т4F8о==Kе E4D4ктеD8Eт8к8 4пп4D4т4 ук474=K 6 т45л8Fе 1. 

&45л8F4 1 – ЭкEплу4т4F8о==Kе E4D4ктеD8Eт8к8 

%4D4ктеD8Eт8к4 
�д8=8F4  
87<еDе=8O 

�=4Gе=8е 

�4пDO6е=8е Eет8 п8т4=8O � от 187 до 253 

Ч4Eтот4 Eет8 п8т4=8O �F от 49 до 51 

�отDе5лOе<4O <оI=оEтL, =е 5олее: �т  300 

&е<пеD4туD4 окDу64NIе9 EDедK °! от 10 до 35 

От=оE8телL=4O 6л46=оEтL пD8 те<пеD4туDе +25°!, =е 5олее % 80 

�т<оEDеD=ое д46ле=8е << Dт.Eт. от 680 до 800 

2.2.2 �Dо876од8телL=оEтL 4пп4D4т4 ук474=4 6 т45л8Fе 2. 

&45л8F4 2 – �Dо876од8телL=оEтL 

�4D4<етD 
�д8=8F4 

87<еDе=8O 

&е<пеD4туD4 Eл4д47е=т4, °C 

-15 +5 +20 

&8п Eл4д47е=т4 - Eп8Dт1 6од42 

�86=89 пDедел те<пеD4туDK 6  
OGе9ке 5лок4 оEл46де=8O 

°! -80 -70 -60 

 

 

                                                      
1  еко<е=дуетEO подклNG8тL 4пп4D4т к кD8оEт4ту ЛинтеЛ ® &К!-20. 
2 �8=8<4лL=K9 D4EEод 2 л/<8=. 
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2.2.3 �4EEо-7454D8т=Kе E4D4ктеD8Eт8к8 4пп4D4т4 ук474=K 6 т45л8Fе 3. 

&45л8F4 3 –�4EEо-7454D8т=Kе E4D4ктеD8Eт8к8 

%4D4ктеD8Eт8к4 
�д8=8F4 
87<еDе=8O 

�=4Gе=8е 

�4EE4 4пп4D4т4, =е 5олее к7 15 

 47<еDK 4пп4D4т4 (H8D8=4 E 6KEот4 E 7лу58=4) << 450E380E360 

�4EE4 4пп4D4т4 6 уп4ко6ке, =е 5олее к7 26 

 47<еDK 4пп4D4т4 6 уп4ко6ке (H8D8=4 E 6KEот4 E 7лу58=4) << 610E510E460 

2.2.4 &оG=оEт=Kе E4D4ктеD8Eт8к8 4пп4D4т4 ук474=K 6 т45л8Fе 4. 

&45л8F4 4 – &оG=оEт=Kе E4D4ктеD8Eт8к8  

�ок474телP 
�д8=8F4 

87<еDе=8O 
�=4Gе=8е 

�о7DеH=оEтL 87<еDе=8O те<пеD4туDK пDо5K °! ±1 

�DедпD8Oт8е-877ото68телL 74D4=т8Dует =е87<е==оEтL тоG=оEт=KE E4D4ктеD8Eт8к, подт6еD6де=-
=KE пD8 пеD68G=о9 4ттеEт4F88 поEле тD4=EпоDт8Dо6к8. 

2.3 'EтDо9Eт6о 8 D45от4 

2.3.1 Ко<плект=оEтL поEт46к8 

1) �пп4D4т ЛинтеЛ® КD8Eт4лл-20Э ��$ 2.772.020. 

2) ЭкEплу4т4F8о==Kе доку<е=тK: 
  уко6одEт6о по MкEплу4т4F88 ��$ 2.772.020  Э; 

 �4EпоDт ��$ 2.772.020 �!; 

 �Dо7D4<<4 8 <етод8к4 4ттеEт4F88 ��$ 2.772.020 ��. 

3) Ко<плект пD8=4дле6=оEте9. 

2.3.2 'EтDо9Eт6о 8 D45от4 4пп4D4т4 

2.3.2.1 О5I89 68д 4пп4D4т4 пок474= =4 D8Eу=ке 1 (EтD4=8F4 3). 

5. F9IAB?B7<K9E><= 5?B>

6. ?4@C4

8. FG@5?9D ?4@CO

7. 5?B> BI?4:89A<O

4. FG@5?9D «!9FP»

2. 8<EC?9=

3. >?46<4FGD4

1. ;47?GL>4

 
 8Eу=ок 1 – О5I89 68д 4пп4D4т4 

�о78F8O �47=4Gе=8е 

1. 747луHк4 �4I8т4 7=е7д4 о5D47Fо6о7о теD<о<етD4 от 747DO7=е=8O 

2. д8Eпле9 Ото5D46е=8е 8=DоD<4F88 о EоEтоO=88 4пп4D4т4, пок474=89 д4тG8-
ко6, Dе7улLт4то6 8EпKт4=89 
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�о78F8O �47=4Gе=8е 

3. кл4684туD4 'пD46ле=8е 4пп4D4то< 

4. ту<5леD «!етP» �клNGе=8е 4пп4D4т4 

5. теE=оло78GеEк89 

5лок 

КDепле=8е пDо58Dк8 E пDо5о9 длO 8EпKт4=8O; пD86од <еH4лк8. �лок 
E пDо58Dко9 D8кE8DуетEO 6 поло6е=88 «8EпOт4=8е», ко7д4 пDо58Dк4 
E пDо5о9 опуEк4етEO 6 OGе9ку 5лок4 оEл46де=8O, 8л8 6 поло6е=88 
«=45лNде=8е», ко7д4 пDо58Dк4 876лек4етEO 87 5лок4 оEл46де=8O длO 
687у4лL=о7о =45лNде=8O кD8Eт4лло6 

6. л4<п4 ОE6еIе=8е пDо5K пD8 687у4лL=о< =45лNде=88 кD8Eт4лло6 

7. 5лок оEл46де=8O ОEл46де=8е пDо5K 

8. ту<5леD л4<пK �клNGе=8е л4<пK 

 

2.3.2.2 �8д 4пп4D4т4 E74д8 пок474= =4 D8Eу=ке 2. 

4. LFGJ9DO I?48479AF4

2. D4;Nё@ RS-232

5. C?46><9 6EF46>< 6. LAGD C<F4A<O

3. >?9@@4 «�9@?O»1. 4AF9AA4 �Б�

 
 8Eу=ок 2 – �8д 4пп4D4т4 E74д8 

�о78F8O �оOE=е=8е 

1. 4=те==4 ��� �еDед4G4 Dе7улLт4то6 8EпKт4=89 =4 �К по 5еEпDо6од=о<у 8=-
теDDе9Eу (поEт46лOетEO по отделL=о<у 74к47у) 

2. D47JU< RS-232 �еDед4G4 Dе7улLт4то6 =4 �К по 8=теDDе9Eу RS-232  

(� �ЛО����� �, EтD4=8F4 23) 

3. кле<<4 «�е<лO» �одклNGе=8е к ко=туDу 747е<ле=8O 

4. HтуFеDK Eл4д47е=т4 �одклNGе=8е Hл4=7о6 под4G8 8 Eл864 Eл4д47е=т4 E 6=утDе=-
=8< д84<етDо< 10 <<; тDу5к8 E8л8ко=о6Kе <ед8F8=Eк8е D8к-
E8DуNтEO Eо<ут4<8; те<пеD4туD4 8 D4EEод Eл4д47е=т4 Eо7л4E=о 
т45л8Fе 2, EтD4=8F4 2 

5. пл46к8е 6Eт46к8 �4I8т4 от коDотко7о 74<Kк4=8O 

6. H=уD п8т4=8O �одклNGе=8е к Eет8 пеDе<е==о7о ток4 ~230� 50�F 

2.3.2.3 �пп4D4т о5еEпеG864ет: 
1) 6 46то<4т8GеEко< Dе68<е: 

 =епDеDK6=ое пеDе<еH864=8е о5D47F4 6 теGе=8е 6Eе7о 8EпKт4=8O; 
 оEл46де=8е о5D47F4 до поO6ле=8O кD8Eт4лло6 8 D8кE4F8N &�К, TMIN 8 TMAX; 

 =47Dе6 о5D47F4 до 8EGе7=о6е=8O кD8Eт4лло6 8 D8кE4F8N &�. 
2) 6 DуG=о< Dе68<е: 

 =епDеDK6=ое пеDе<еH864=8е о5D47F4 пD8 оEл46де=88; 
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 оEл46де=8е 8л8 =47Dе6 о5D47F4 по ко<4=де опеD4тоD4; 
 подE6етку о5D47F4 пD8 687у4лL=о< =45лNде=88; 
 D8кE4F8N &�К 8 &� по ко<4=де опеD4тоD4. 

� 6 DуG=о<, 8 6 46то<4т8GеEко< Dе68<4E 4пп4D4т EтDо8т 7D4D8к8 те<пеD4туDK 8 пDо7D4G=оEт8 
о5D47F4 6о 6Dе<O 8EпKт4=8O 8 EоED4=Oет Dе7улLт4тK 8EпKт4=89 6 M=еD7о=е7468E8<о9 п4<Oт8. � 
д4лL=е9Hе< Dе7улLт4тK <о7ут 5KтL пDоE<отDе=K =4 д8Eплее 4пп4D4т4 8 пеDед4=K =4 �К по 8=-
теDDе9Eу RS-232. 

�Eл8 л45оD4тоD8O оE=4Iе=4 подE8Eте<о9 5еEпDо6од=о7о 8=теDDе9E4 ЛинтеЛ® Л��К1, Dе7улLт4тK 
8EпKт4=89 46то<4т8GеEк8 пеDед4NтEO по D4д8ок4=4лу 8 74=оEOтEO 6 547у д4==KE. 

3 �О��О&О�К� К 1К!�Л'�&�&�� 

3.1 &Dе5о64=8O к <еEту уEт4=о6к8 

3.1.1 �пп4D4т 6KпуEк4етEO 6 =4EтолL=о< 8Eпол=е=88: пD8 уEт4=о6ке о5еEпеG8тL уEто9G86ое 
6еDт8к4лL=ое поло6е=8е, пD8 =ео5Eод8<оEт8 87<е=8тL 6KEоту Dе7ул8Dуе<KE =о6ек. 
3.1.2 �лO D45отK 4пп4D4т4 =ео5Eод8<о =4л8G8е пDотоG=о9 6одK 8л8 кD8оEт4т4 (7468E8<оEтL 
пDо876од8телL=оEт8 от п4D4<етDо6 Eл4д47е=т4 пDедEт46ле=4 6 т45л8Fе 2 =4 EтD4=8Fе 2). 

3.1.3 �пп4D4т дол6е= 5KтL подклNGе= кле<<о9 «�е<лO» (D8Eу=ок 2 =4 EтD4=8Fе 4, по78F8O 3)  

к ко=туDу 747е<ле=8O. 
3.1.4 �ол6=о 5KтL 8EклNGе=о 6о7де9Eт68е тDOEк8, уд4Dо6, 685D4F89, 6л8ONI8E =4 =оD<4лL-
=уN D45оту 4пп4D4т4. 
3.1.5 �лO подклNGе=8O 4пп4D4т4 к E8Eте<е ЛинтеЛ®-Л��К1 4пп4D4т дол6е= 5KтL о5оDудо64= 
<одуле< 5еEпDо6од=о9 E6O781. 

3.2 �=еH=89 оE<отD 

�еDед =4G4ло< MкEплу4т4F88 4пп4D4т4: 
1) оE6о5од8тL 4пп4D4т от уп4ко6к8; 
2) пDо6еD8тL ко<плект=оEтL поEт46к8; 
3) 6Kпол=8тL 6=еH=89 оE<отD 4пп4D4т4 =4 =4л8G8е по6Dе6де=89; 

4) пDо6еD8тL =4л8G8е EопDо6од8телL=о9 доку<е=т4F88. 
�4 6Eе деDектK EоEт46лOетEO Eоот6етEт6уNI89 4кт. 

3.3 ОпDо5о64=8е 

В�И�А�ИЕ 
ПоEле 6=еEе=8O 6 от4пл864е<ое по<еIе=8е 87 7о=K E те<пеD4туDо9 =86е 10°С, 6KдеD64тL 
4пп4D4т 6 уп4ко6ке =е <е=ее 4 G. 

3.3.1 �клNG8тL 4пп4D4т ту<5леDо< «!етP» (D8Eу=ок 1 =4 EтD4=8Fе 3, по78F8O 4) – =4 д8Eплее 
ото5D478тEO ок=о 747Dу7к8 (D8Eу=ок 3, EтD4=8F4 5). 

�" �%�� "!5DB5E8<02B><0B8:0"

�##�$�& ��/ '%�"$�!!"�"
"#$�����!�/ &� #�$�&'$Ы !�+���
�$�%&������*�� � �� �$��!�/
%��&�Ы) !�(&�#$"�'�&"�

ЛинтеЛ ® �@8AB0;;-20- 

450075, 3.'D0, ?@.":Bя1@я, 149

&5;5D>=:    (347) 284-27-47

(0:A:    (347) 284-35-81

E-Mail:             info@bashnxa.ru

%09B:    http://www.bashnxa.ru

(1.01)

 
 8Eу=ок 3 – Ок=о 747Dу7к8 

ЧеDе7 10 Eеку=д 4пп4D4т пеDеклNG8тEO 6 Dе68< о68д4=8O (D8Eу=ок 4). 

                                                      
1 �оEт46лOетEO по отделL=о<у 74к47у. 
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[ 9:<@] 7?46AB9 @9AN

"����!��

[     *     ] C4D4@9FDO
[�GE>] A4K4FP <ECOF4A<9

�"&"� � �%#Ы&�!�.

20.1°%t° ?@>1O:

�20=>2 �20= �20=>28G�01>@0=B:
&%-1#@>10:

-60°%"68405<0я t°=::
��&" �&$568<:

1

2

3

4
 

 8Eу=ок 4 – Ок=о о68д4=8O 

1ле<е=т ок=4 �оOE=е=8е 

1. те<пеD4туD4 пDо5K текуI8е пок474=8O д4тG8к4 те<пеD4туDK пDо5K 

2. Eт4туE=ое Eоо5Iе=8е «�О&О� К �!�/&���.» – <о6=о =4G8=4тL 8EпKт4=8е; 
«'!&��О��&� � О�� К'» – пеDед 74пуEко< 8EпKт4=8O пDо58Dк4 
дол6=4 5KтL уEт4=о6ле=4 6 5лок оEл46де=8O; 
«�КЛ.Ч�&� �О�' (35.0/35.0°!)» – =едопуEт8<4O те<пеD4туD4 D4-
д84тоDо6, тDе5уетEO пDо6еD8тL подклNGе=8е Eл4д47е=т4; тDе5уе<Kе 
п4D4<етDK Eл4д47е=т4 ук474=K 6 т45л8Fе 2, EтD4=8F4 2 

3. оE=о6=Kе п4D4<етDK 

8EпKт4=8O 

8EпKт4=8е 5удет 6Kпол=OтLEO 6 Eоот6етEт688 E Mт8<8 п4D4<етD4<8 

4. подEк47к8 де9Eт68O, 6Kпол=Oе<Kе 4пп4D4то< поEле =464т8O  к=опок =4 л8Fе-
6о9 п4=ел8 4пп4D4т4 

�лO 5KEтDо7о Dед4кт8Dо64=8O оE=о6=KE п4D4<етDо6 8EпKт4=8O =464тL [ * ] – 6еDE=89 п4D4<етD 
5удет 6Kделе= 6UлтK< <4DкеDо<. �оEле Gе7о: 
 длO 6K5оD4 дDу7о7о п4D4<етD4 6D4I4тL DуGку упD46ле=8O; 
 длO Dед4кт8Dо64=8O 6K5D4==о7о п4D4<етD4 =464тL [ е68<]; 
 длO 87<е=е=8O 7=4Gе=8O Dед4кт8Dуе<о7о п4D4<етD4 6D4I4тL DуGку упD46ле=8O; 
 длO подт6еD6де=8O 66од4 =464тL [�уEк], длO от<е=K – [!топ]. 
� =86=е9 G4Eт8 д8EплеO ото5D464NтEO подEк47к8 по =47=4Gе=8N к=опок. 
 

4 �!�ОЛ0�О����� �О �����Ч���. 

4.1 �опол=8телP=ое о5оDудо64=8е 8 <4теD84лO 

�опол=8телL=Kе <4теD84лK длO D45отK 4пп4D4т4 ук474=K 6 т45л8Fе 5. 

&45л8F4 5 – �опол=8телL=Kе <4теD84лK 

�4теD84л �47=4Gе=8е 

!п8Dт Mт8ло6K9 пDот8Dк4 пDо58Dк8 от 747DO7=е=89 8 68Dо6; длO 74л86к8 6 
OGе9ку 5лок4 оEл46де=8O E FелLN пDедот6D4Iе=8O о5<еD-
74=8O пDо58Dк8 6о 6Dе<O 8EпKт4=8O 

!4лDетк4 EлопG4то5у<46=4O 

4.2 1кEплу4т4F8о==Oе о7D4=8Gе=8O 

1) Кле<<4 «�е<лO» =4 H4EE8 4пп4D4т4 дол6=4 5KтL подклNGе=4 к H8=е 747е<ле=8O. 
2) �D8 D45оте E 4пп4D4то< о5Eлу6864NI89 пеDEо=4л дол6е= Eо5лNд4тL о5I8е пD468л4 теE-

=8к8 5е7оп4E=оEт8 пD8 D45оте E MлектD8GеEк8<8 уEт4=о6к4<8 E =4пDO6е=8е< до 1000�, 
87ло6е==Kе 6 8=EтDукF88 «�D468л4 MкEплу4т4F88 MлектDоуEт4=о6ок потDе58теле9». 
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3) �4пDеI4етEO 6клNGе=8е 4пп4D4т4 пD8 E=Oто< ко6уEе; пD8 6Kпол=е=88 D45от, E6O74==KE Eо 
E=Oт8е< ко6уE4, =ео5Eод8<о отклNG8тL п8т4=8е 4пп4D4т4 8 6K=утL Eете6уN 68лку 87 Dо-
7етк8. 

4) �4пDеI4етEO 6клNGе=8е 4пп4D4т4 поEле поп4д4=8O поEтоDо==8E пDед<ето6 6=утDL до 8E 
876леGе=8O; пD8 поп4д4=88 68дкоEт8 пеDед 6клNGе=8е< уд4л8тL 68дкоEтL, пDоEуH8тL 4п-
п4D4т =е <е=ее 16 G4Eо6. 

5) �4пDеI4етEO 6клNGе=8е 4пп4D4т4 D4=ее, Gе< GеDе7 5 <8=ут поEле 6KклNGе=8O 6о 875е64-
=8е 6KEод4 е7о 87 EтDоO. 

6) О5Eлу6864NI89 пеDEо=4л дол6е=: 
 пDо9т8 о5уGе=8е длO D45отK E 4пп4D4то< 8 полуG8тL допуEк; 
 7=4тL пD8=F8п де9Eт68O 4пп4D4т4; 
 7=4тL пD468л4 5е7оп4E=о7о о5Eлу6864=8O; 
 7=4тL поDOдок де9Eт689 пD8 6о7=8к=о6е=88 E5оO. 
7)  е68< D45отK 4пп4D4т4 – =епDеDK6=K9. �оEле око=G4=8O D45отK 4пп4D4т 6KклNG4етEO 

ту<5леDо< «!етL» =4 пеDед=е< тоDFе 4пп4D4т4 (D8Eу=ок 1 =4 EтD4=8Fе 3, по78F8O 4).  
8) �о 875е64=8е о6о7о6 74пDеI4етEO пD8к4E4тLEO к пDо58Dке поEле 8EпKт4=8O 6 теGе=8е 10 

<8=ут. 
4.3 �од7ото6к4 пDо5O 

�од7ото68тL пDо5у 6 Eоот6етEт688 E �О!& 5066, �О!&   53706, �О!& 18995.5, ISO 3013, ASTM D2386. 

4.4 �од7ото6к4 4пп4D4т4 к пDо6еде=8N 8EпOт4=8O 

4.4.1  еко<е=дуетEO о7=4ко<8тLEO E � �ЛО������ �, EтD4=8F4 30. 

4.4.2 �клNG8тL 4пп4D4т Eо7л4E=о п. 3.3 =4EтоOIе7о  Э. 

4.4.2.1 �лO D4EH8Dе==о7о Dед4кт8Dо64=8O п4D4<етDо6 8EпKт4=8O 6 Dе68<е о68д4=8O =464тL 
[ е68<] – откDоетEO «�Л���О� ���.», 6D4Iе=8е< DуGк8 упD46ле=8O 6K5D4тL пу=кт 
«'Eло68O 8EпOт4=8O» 8 =464тL [�уEк] (D8Eу=ок 5). 

'%�"��3 �%#/&�!�3

[!FBC] ;4>DOFP
[�GE>] 6OCB?A<FP

$568< 02B><0B
"68405<0я t°=: -60°%
#@>10 $&
�01>@0=B �20=>2 �20= �20=>28G
�>?>;=8B5;P=> ►

 
 8Eу=ок 5 – �е=N «'Eло68O 8EпOт4=8O» 

�у=кт <е=N �оOE=е=8е 

 е68< DуG=о9 – оEл46де=8е/=47Dе6 пDо5K, 4 т4к6е D8кE4F8O &�К 8 &� 5удут 
6Kпол=OтLEO по ко<4=де опеD4тоD4; 
46то<4т – 46то<4т8GеEкое опDеделе=8е &�К, &�, TMIN 8 TMAX 

О68д4е<4O t°=к пDедпол474е<4O те<пеD4туD4 =4G4л4 кD8Eт4лл874F88 

�Dо54 =48<е=о64=8е пDодукт4, о5D47еF котоDо7о 5удет 8EпKт4= 

Л45оD4=т D4<8л8O л45оD4=т4, 6Kпол=ONIе7о 8EпKт4=8е 

�опол=8телP=о пеDеEод 6 <е=N допол=8телL=KE уEло689 8EпKт4=8O: 
- !коD.оEл46д.,°!/<8= 74д4==4O EкоDоEтL оEл46де=8O пDо5K 6 D49о=е о68д4е<о9 &�К  

(=4 =4G4лL=о< Mт4пе оEл46де=8е пDо876од8тEO =4 пол=о9 <оI=оEт8) 
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�у=кт <е=N �оOE=е=8е 

- 'пDе6де=8е, °! пD8 оEл46де=88 пDо5K до те<пеD4туDK 

t°� = «О68д4е<4O t°=к» + «'пDе6де=8е,°!» 

пDо8EEод8т пеDеклNGе=8е E оEл46де=8O =4 <4кE8<4лL=о9 <оI=оEт8 
=4 поддеD64=8е 74д4==о9 EкоDоEт8 оEл46де=8O 8 6клNG4NтEO детек-
тоDK кD8Eт4лло6  

- �етектоD кD8Eт4лло6 допол=8телL=4O 8=DоD<4F8O 6 п. 4.4.3 =4EтоOIе7о  Э 

-  4EEо6де=8е, °! допуEт8<ое D4EEо6де=8е <е6ду детектоD4<8 кD8Eт4лло6 (еEл8 74-
де9Eт6о64=K о54 детектоD4 кD8Eт4лло6, 8 поEле ED454тK64=8O од=о7о 
87 =8E пDо54 оEл4д8л4EL 5олее 74д4==о9 6ел8G8=K, о68д4=8е ED454-
тK64=8O 6тоDо7о детектоD4 пDекD4I4етEO) 

- !4<оD47о7Dе6, °! <8=8<4лL=ое по6KHе=8е те<пеD4туDK пDо5K, пD8 котоDо< D8кE8Dу-
етEO TMIN 8 TMAX 

- �Dо7D.кD8Eт4лл.,% пD8 п4де=88 пDо7D4G=оEт8 от =4G4лL=о7о 7=4Gе=8O до Mто9 6ел8G8=K 
6 46то<4т8GеEко< Dе68<е D8кE8DуетEO &�К 

- �Dо7D.74<еD74=8е,% пD8 у6ел8Gе=88 пDо7D4G=оEт8 до Mто9 6ел8G8=K 6 46то<4т8GеEко< 
Dе68<е D8кE8DуетEO &� 

 

&45л8F4 6 –  еко<е=дуе<Kе 7=4Gе=8O п4D4<етDо6 8EпKт4=8O 

�4D4<етD �=4Gе=8е 

 е68< 46то<4т 

О68д4е<4O t°=к -60 

�опол=8телP=о► 

!коD.оEл46д., °C/<8= 1 

'пDе6де=8е, °! 5 

�етектоD кD8Eт4лло6 пDо7D4G=. + D47о7Dе6 

 4EEо6де=8е, °! 1 

!4<оD47о7Dе6, °! 0,1 

�Dо7D.кD8Eт4лл.,% 80 

�Dо7D.74<еD74=8е,% 80 

4.4.2.2 �4D4<етDK «�Dо54» 8 «Л45оD4=т» 74д4NтEO по уE<отDе=8N полL7о64телO. 
4.4.2.3 �D8 Dеко<е=дуе<KE 7=4Gе=8OE п4D4<етDо6 8EпKт4=8O: 
1) пDедпол474етEO, Gто кD8Eт4ллK поO6лONтEO поEле оEл46де=8O пDо5K до -60°C + 5°C = -55°C; 

2) поддеD6864етEO EкоDоEтL оEл46де=8O пDо5K 6 D49о=е пDедпол474е<о9 T�К =4 уDо6=е 1°!/<8=; 
3) пеDеEод E оEл46де=8O =4 пол=о9 <оI=оEт8 =4 74д4==уN EкоDоEтL оEл46де=8O 74 5°! до пDед-

пол474е<о9 T�К (пD8 доEт86е=88 -60+5=-55 °!); 
4) о5=4Dу6е=8е кD8Eт4лло6 6 46то<4т8GеEко< Dе68<е по E4<оD47о7Dе6у пDо5K 8 по 87<е=е=8N 

пDо7D4G=оEт8; 
5) D8кE4F8O TMIN 8 TMAX, еEл8 пD8 оEл46де=88 те<пеD4туD4 пDо5K у6ел8G8л4EL =4 0,1°!; 
6) D8кE4F8O T�К, еEл8 пD8 оEл46де=88 пDо7D4G=оEтL по=878л4EL до уDо6=O 80% от уDо6=O, пDед-

HеEт6о646Hе7о E=86е=8N пDо7D4G=оEт8; 
7) D8кE4F8O T�, еEл8 пD8 =47Dе6е пDо7D4G=оEтL у6ел8G8л4EL до 80% от уDо6=O, пDедHеEт6о646Hе-

7о E=86е=8N пDо7D4G=оEт8 8 D8кE4F88 T�К; 

8) пDекD4I4етEO оEл46де=8е, еEл8 поEле ED454тK64=8O од=о7о 87 детектоDо6 кD8Eт4лло6 пDо54 
оEл46де=4 =4 1°!, 8 =е ED454тK64ет 6тоDо9 детектоD (=4пD8<еD, <о6ет ED45от4тL детектоD 
пDо7D4G=оEт8 8 =е ED45от4тL детектоD E4<оD47о7Dе64). 
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В�И�А�ИЕ 
�о7<о6=о ло6=ое опDеделе=8е кD8Eт4лло6 87-74 по<ут=е=8O пDо5K до =4G4л4 кD8Eт4лл874-
F88. 

4.4.2.4 �еDеклNGе=8е E <4кE8<4лL=о9 <оI=оEт8 оEл46де=8O =4 74д4==уN EкоDоEтL 8 =4 =47Dе6 
6Kпол=OетEO EледуNI8< о5D47о<: 

«УCD9:89A<9,°С»

C9D9>?Nч9A<9 D9:<@4 Bх?4:89A<O

«�:<849@4O t°A>»

Bх?4:89A<9 A4 
@4>E<@4?PAB= 
@BщABEF<

CB889D:4A<9 ;484AAB= E>BDBEF< 
Bх?4:89A<O «С>BD.Bх?4:8.,°С/@<A» 
8B B5A4DG:9A<O T�К, TMIN < TMAX

F9@C9D4FGD4

6D9@O

@98?9AAO= A47D96 
8B B5A4DG:9A<O TЗ

 
 8Eу=ок 6 – ОEл46де=8е пDо5K 

4.4.3 �4EтDо9к4 детектоDо6 кD8Eт4лло6 

4.4.3.1 � 4пп4D4те 8EполL7уетEO д64 EпоEо54 опDеделе=8O D47о6о7о пеDеEод4: 

1) «пDо7D4G=оEтP» (D8Eу=ок 7):  

  поO6ле=8е кD8Eт4лло6 пD8 оEл46де=88 пDо5K (те<пеD4туD4 =4G4л4 кD8Eт4лл874F88 &�К), 
D8кE8DуетEO по E=86е=8N пDо7D4G=оEт8 пDо5K до 74д4==о7о уDо6=O (п4D4<етD 
«�Dо7D.кD8Eт4лл.,%» 6 <е=N «'Eло68O 8EпOт4=8O» ► «�опол=8телP=о»); 

 8EGе7=о6е=8е кD8Eт4лло6 пD8 =47Dе6е пDо5K (те<пеD4туD4 74<еD74=8O &�) D8кE8DуетEO по 
6оEEт4=о6ле=8N пDо7D4G=оEт8 до 74д4==о7о уDо6=O (п4D4<етD «�Dо7D.74<еD74=8е,%»). 

t°пDо5K,°!

пDо7D4G=оEтL

T7

T=к

«�DB;D.>D<EF4??.,%»

«�DB;D.;4@9D;4A<9,%»

 

 8Eу=ок 7 - �етектоD «пDо7D4G=оEтP» 

2) «E4<оD47о7Dе6» (D8Eу=ок 8):  

  поO6ле=8е кD8Eт4лло6 опDеделOетEO по по6KHе=8N те<пеD4туDK пDо5K (пD8 оEл46де-
=88) 5олее 6ел8G8=K, 74д4==о9 п4D4<етDо< «!4<оD47о7Dе6, °!»; пD8 Mто< D8кE8DуNтEO 
<8=8<4лL=4O те<пеD4туD4 пDо5K пеDед E4<оD47о7Dе6о< (TMIN); 

 <4кE8<4лL=4O те<пеD4туD4 E4<оD47о7Dе64 (TMAX) D8кE8DуетEO, ко7д4 те<пеD4туD4 пDо5K 
поEле E4<оD47о7Dе64 по=864етEO =86е TMIN 8л8 =е по6KH4етEO 6 теGе=8е 5 <8=ут. 
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 8Eу=ок 8 - �етектоD «E4<оD47о7Dе6» 

4.4.3.2 �о7ут 5KтL 74де9Eт6о64=K од=о6Dе<е==о о54 EпоEо54 о5=4Dу6е=8O кD8Eт4лло6 8л8 
толLко од8= (п4D4<етD «�етектоD кD8Eт4лло6»). � EлуG4е 74де9Eт6о64=8O о5о8E EпоEо5о6 
поEле D8кE4F88 &�К 8л8 TMIN, о68д4етEO ED454тK64=8е дDу7о7о детектоD4, пок4 те<пеD4-
туD4 пDо5K =е опуEт8тEO =4 6ел8G8=у, 74д4==уN п4D4<етDо< « 4EEо6де=8е, °!». �Eл8 
6тоDо9 детектоD т4к 8 =е ED45от4л, 6 Dе7улLт4те 8EпKт4=8O 5удут отEутEт6о64тL Eоот6ет-
Eт6уNI8е 7=4Gе=8O. 

4.4.3.3 �K5оD EпоEо54 о5=4Dу6е=8O кD8Eт4лло6 7468E8т от тDе5уе<о7о <етод4 8EпKт4=8O 8 оEо-
5е==оEте9 8EпKтK64е<о7о пDодукт4. 

4.4.3.4 О5KG=о детектоD пDо7D4G=оEт8 D8кE8Dует те<пеD4туDу =4G4л4 кD8Eт4лл874F88 поGт8 од-
=о6Dе<е==о E D8кE4F8е9 <8=8<4лL=о9 те<пеD4туDK пеDед E4<оD47о7Dе6о<. Од=4ко, длO 
=екотоDKE пDодукто6 E4<оD47о7Dе64 пDо5K пD8 D47о6о< пеDеEоде =е =45лNд4етEO, то7д4 
Eледует 8EполL7о64тL детектоD пDо7D4G=оEт8. �екотоDKе пDодуктK пD8 D47о6о< пеDеEо-
де D47о7Dе64NтEO 5KEтDо 8 7=4G8телL=о, 6 Dе7улLт4те детектоD пDо7D4G=оEт8 D8кE8Dует 
те<пеD4туDу =4G4л4 кD8Eт4лл874F88, ко7д4 те<пеD4туD4 у6е EуIеEт6е==о по6KE8л4EL; 6 
Mто< EлуG4е Eледует 8EполL7о64тL детектоD E4<оD47о7Dе64. 

В�И�А�ИЕ 
�Eл8 =ео5Eод8<о уG8тK64тL попD46ку по �СО, то =ео5Eод8<о 6Kпол=8тL п.5.7. 

4.4.4 �одклNGе=8е Eл4д47е=т4 

4.4.4.1 � к4GеEт6е 8EтоG=8к4 Eл4д47е=т4 Dеко<е=дуетEO 8EполL7о64тL 6одопDо6од 8л8 теD<о-
кD8оEт4т ЛинтеЛ ® &К!-20. 

4.4.4.2 �одклNG8тL к 4пп4D4ту Eл4д47е=т (п4D4<етDK Eл4д47е=т4 ук474=K 6 т45л8Fе 2 =4 EтD4=8Fе 
2) (D8Eу=ок 9). 

6Eод 6KEод
 

 8Eу=ок 9 - �одклNGе=8е Eл4д47е=т4 
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4.5 �Dо6еде=8е 8EпOт4=8O 

4.5.1 'Eт4=о6к4 пDо5K 

4.5.1.1 'Eт4=о68тL теE=оло78GеEк89 5лок 6 поло6е=8е «=45лNде=8е», 74те< под7ото6ле==уN 
длO 8EпKт4=8O пDо5у 74л8тL 6 G8EтуN пDо58Dку до D8Eк8 8 6кDут8тL пDо58Dку 6 теE=оло-
78GеEк89 5лок до упоD4 (D8Eу=ок 10). 

�B?B:9A<9 
"�ECOF4A<9"

�B?B:9A<9 
"Н45?N89A<9"

 

 8Eу=ок 10 – 'Eт4=о6к4 пDо58Dк8  
4.5.1.2 &I4телL=о пDотеDетL пDо58Dку EлопG4то-5у<46=о9 тк4=LN, Eле7к4 E<оGе==о9 6 <ед8-

F8=Eко< Eп8Dте длO уд4ле=8O 747DO7=е=89 8 68Dо6. � пDот86=о< EлуG4е 6о7<о6=о о5-
<еD74=8е пDо58Dк8 6о 6Dе<O 8EпKт4=8O, Gто 74тDуд=8т 687у4лL=ое =45лNде=8е 8 Dе78-
EтD4F8N кD8Eт4лло6 по 87<е=е=8N пDо7D4G=оEт8. 

4.5.1.3 �4л8тL 6 OGе9ку 5лок4 оEл46де=8O пD8<еD=о 3,5 <л G8Eто7о Mт8ло6о7о Eп8Dт4 8 уEт4=о-
68тL теE=оло78GеEк899 5лок 6 поло6е=88 «8EпOт4=8е» – пD8 Mто< пDо58Dк4 по<еI4етEO 
6 OGе9ку 5лок4 оEл46де=8O (D8Eу=ок 10). 

� И�ЕЧА�ИЕ 

1. �лO ко=тDолO уDо6=O Eп8Dт4 уEт4=о68тL теE=оло78GеEк89 5лок E пDо58Dко9 6 поло6е=8е 
«испытание», 74те< под=OтL теE=оло78GеEк89 5лок 8 ED47у 6е 687у4лL=о пDоко=тDол8Dо-
64тL уDо6е=L плU=к8 Eп8Dт4, оEт46Hе9EO =4 пDо58Dке – о= дол6е= 5KтL 6KHе D8Eк8, =о =е 
5олее 5 <<. 

2. ОD8е=т8Dо6оG=ое кол8GеEт6о Eп8Dт4, котоDое Eледует 74л864тL 6 OGе9ку 5лок4 оEл46де-
=8O: 3,5 <л. 

3. Следует 875е74тL 74л86к8 GDе7<еD=о7о о5JU<4 Eп8Dт4. 

4.5.2 �Dо6еде=8е 8EпKт4=8O 

'5ед8тLEO, Gто: 
 уEло68O 8EпKт4=8O 74д4=K коDDект=о; 
 к 4пп4D4ту подклNGе= Eл4д47е=т; 
 пDо54 74л8т4 6 пDо58Dку до D8Eк8; 
 уDо6е=L Eп8Dт4 6 OGе9ке 5лок4 оEл46де=8O поEле уEт4=о6к8 пDо58Dк8 =4 уDо6=е D8Eк8; 
 теE=оло78GеEк89 5лок E пDо58Dко9 уEт4=о6ле= 6 поло6е=8е «8EпOт4=8е». 

В�И�А�ИЕ 
�о 875е64=8е 6KEод4 4пп4D4т4 87 EтDоO =е =4G8=4тL 8EпKт4=8е 5е7 подклNGе=8O Eл4д47е=т4. 

�464тL [�уEк] – =4G=UтEO 8EпKт4=8е пDо5K. �4 д8Eплее ото5D478тEO 7D4D8к оEл46де=8O E те<пе-
D4туDо9 8 пDо7D4G=оEтLN пDо5K (D8Eу=ок 11, EтD4=8F4 12). 
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-61.7

-66.5t°=:, °%:

t°7, °%:

[!FBC] ;4>DOFP

-65.8t°max, °%:

-66.5t°min, °%:

t°,°%

-60

-40

-20

0

403530252015105 t, <8=

0:42:25

D

0,2

0,4

0,6

0,8

[�GE>] D9;G?PF4F
[     *     ] t°,°C
[ 9:<@] @4ELF45

1 3

4

5

-66.5t° ?@>1O, °%: 0.08#@>7@. D:

2

7

8

6

$'+!"� !��$��

 
 8Eу=ок 11 - Ок=о 7D4D8к4 оEл46де=8O 

1ле<е=т ок=4 �оOE=е=8е 

1. Dе68< 8EпOт4=8O «��&О��&» - 8EпKт4=8е 6Kпол=OетEO 6 46то<4т8GеEко< Dе68<е, 
ук474=8е &�К 8 &� 6DуG=уN =е6о7<о6=о; 
« 'Ч�О�» - пеDеклNGе=8е <е6ду =47Dе6о< 8 оEл46де=8е< пDо5K 8 
D8кE4F8O &�К 8 &� по ко<4=де опеD4тоD4 (подEк47к8 6 =86=е9 G4Eт8 
д8EплеO) 

2. текуI89 Dе68< 5лок4 
оEл46де=8O 

«О%Л�������» - оEл46де=8е пDо5K до опDеделе=8O &�К; 
«&� �О!&�&» - теD<оEт4т8Dо64=8е 5лок4 оEл46де=8O 6 <о<е=т 68-
7у4лL=о7о =45лNде=8O пDо5K 6 DуG=о< Dе68<е 8л8 поEле D8кE4F88 
&�К длO 746еDHе=8O пеDеEод=KE пDоFеEEо6 6 46то<4т8GеEко< Dе68-
<е; 
«��� ��» - =47Dе6 пDо5K до D8кE4F88 &� 

3. 6Dе<O E =4G4л4  
8EпOт4=8O 

ото5D464етEO 6 DоD<4те ЧЧ:��:!!, 7де ЧЧ – G4EK, �� – <8=утK, !! – 

Eеку=дK 

4. кD864O пDо7D4G=оEт8 
пDо5O 

Mто9 кD86о9 Eоот6етEт6уNт подп8E8 =4 пD46о9 6еDт8к4лL=о9 оE8 7D4-
D8к4 

5. кD864O те<пеD4туDO 
пDо5O 

Mто9 кD86о9 Eоот6етEт6уNт подп8E8 =4 ле6о9 6еDт8к4лL=о9 оE8 7D4-
D8к4 

6. те<пеD4туD4 8  
пDо7D4G=оEтP пDо5O 

те<пеD4туD4 пDо5K (6 Eко5к4E ук474= 7D4д8е=т от=оE8телL=о Eт4к4=4) 
8 еU пDо7D4G=оEтL (1 Eоот6етEт6ует пDо7D4G=оEт8 до 8EпKт4=8O, 0 – 

пDо54 =епDо7D4G=4) 

7. кD8Eт4лл874F8O те<пеD4туD4 пDо5K, 74D8кE8Dо64==4O детектоD4<8 кD8Eт4лло6 

8. подEк47к8 =47=4Gе=8е к=опок: 6 46то<4т8GеEко< Dе68<е доEтуп=4 толLко к=оп-
к4 [!топ] – оEт4=о6к4 8EпKт4=8O; 6 DуG=о< Dе68<е допол=8телL=о 
доEтуп=K к=опк8 [ е68<] – пеDеклNGе=8е <е6ду =47Dе6о< 8 оEл4-
6де=8е< пDо5K 8 [�уEк] – D8кE4F8O &�К пD8 оEл46де=88 пDо5K 8 &� 
пD8 =47Dе6е пDо5K 

� теGе=8е 6Eе7о 6Dе<е=8 8EпKт4=8O 6Kпол=OетEO 8=те=E86=ое пеDе<еH864=8е пDо5K. 
4.5.2.1  уG=о9 Dе68< 8EпKт4=8O 

�Eл8 6 уEло68OE 8EпKт4=8O п4D4<етD « е68<» 74д4= к4к «DуG=о9», то 4пп4D4т 6Kпол=8т Eле-
дуNIуN поEледо64телL=оEтL де9Eт689: 

 �клNGе=8е <еH4лк8. 
 �клNGе=8е 5лок4 оEл46де=8O =4 пол=уN <оI=оEтL. 
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 �еDеклNGе=8е E пол=о9 <оI=оEт8 оEл46де=8O =4 оEл46де=8е E 74д4==о9 EкоDоEтLN пD8 до-
Eт86е=88 те<пеD4туDK пеDеклNGе=8O (D8Eу=ок 6 =4 EтD4=8Fе 9). 

 �D8 =464т88 [ е68<] 4пп4D4т пеDеклNG4етEO <е6ду =47Dе6о< 8 оEл46де=8е< пDо5K. 
 �D8 =464т88 [�уEк] 6о 6Dе<O оEл46де=8O пDо5K D8кE8DуетEO &�К, поEле Gе7о 4пп4D4т пеDеклN-

G4етEO =4 =47Dе6 пDо5K. 
 �D8 =464т88 [�уEк] 6о 6Dе<O =47Dе64 пDо5K D8кE8DуетEO &� поEле Gе7о 4пп4D4т пеDеклNG4етEO 

6 Dе68< оEл46де=8O пDо5K. 
 �D8 =464т88 [!топ] 8EпKт4=8е 746еDH4етEO, еEл8 5Kл4 74D8кE8Dо64=4 &�К 8л8 &�, 4пп4D4т Eо-

ED4=Oет Dе7улLт4т 8 ото5D464ет е7о =4 д8Eплее. 
&е<пеD4туD4 пеDеоEл46де=8O &MIN 8 E4<оD47о7Dе64 TMAX 6 DуG=о< Dе68<е =е D8кE8DуNтEO. 

4.5.2.2 �6то<4т8GеEк89 Dе68< 8EпKт4=8O 

�Eл8 6 уEло68OE 8EпKт4=8O п4D4<етD « е68<» 74д4= к4к «46то<4т», то 4пп4D4т 46то<4т8GеEк8 
опDедел8т &�К, &�, TMIN 8 TMAX (=4EтDо9к4 детектоDо6 кD8Eт4лло6 оп8E4=4 6 п. 4.4.3 =4EтоOIе7о 
 Э), поEле Gе7о EоED4=8т Dе7улLт4т 8 ото5D478т е7о =4 д8Eплее. 
�Eл8 6о 6Dе<O 8EпKт4=8O 6 46то<4т8GеEко< Dе68<е теE=оло78GеEк89 5лок 5удет под=Oт, 4пп4-
D4т пеDе9дUт 6 Dе68< DуG=о7о 8EпKт4=8O, о GU< 5удет 6K6еде=о Eоот6етEт6уNIее Eоо5Iе=8е. 
�еDеклNGе=8е 87 DуG=о7о Dе68<4 6 46то<4т8GеEк89 6о 6Dе<O 8EпKт4=8O =е6о7<о6=о. 
4.6 О5D45отк4 Dе7улPт4то6 8EпOт4=8O 

4.6.1 �DоE<отD Dе7улLт4то6 

4.6.1.1 �лO пDоE<отD4 6уD=4л4 Dе7улLт4то6, EоED4=U==KE 6 п4<Oт8 4пп4D4т4, 6 Dе68<е о68д4-
=8O =464тL [ е68<], 6 откDK6Hе<EO 7л46=о< <е=N 6D4Iе=8е< DуGк8 упD46ле=8O 6K-
5D4тL пу=кт «�уD=4л Dе7улPт4то6» 8 =464тL [�уEк] (D8Eу=ок 12). 

�'$!�� $��'�0&�&"�

[�GE>] CB>4;4FP D9;G?PF4F
[!FBC] ;4>DOFP

№
12

13

14

15

17

18

19

20

21

#@>10 �0B0t°=: t°max
$& 26/08/14-65.3 ---

$& 26/08/14---

&%-1 26/08/14-71.0 ---

&%-1 26/08/14-71.1 ---

&%-1 26/08/14-71.5 ---

&%-1 26/08/14-71.0 ---

&%-1 26/08/14-71.3 ---

&%-1 26/08/14-71.2 -69.3

&%-1 26/08/14-71.1 -69.5

[   *   ] +/-10 (G89D:.)

$
�

$
$
�
�
$
$
$
� -67.8

 
 8Eу=ок 12 – Ок=о 6уD=4л4 Dе7улLт4то6 

�4D4<етD �=4Gе=8е 

№ у=8к4лL=K9 =о<еD Dе7улLт4т4 

�Dо54 =48<е=о64=8е 8EпKтK64е<о7о пDодукт4 

  Dе68< 8EпKт4=8O: «DуG=о9» – 8EпKт4=8е 6Kпол=е=о 6 DуG=о< Dе68<е, 
«46то<4т» – 8EпKт4=8е 6Kпол=е=о 6 46то<4т8GеEко< Dе68<е 

t°=к те<пеD4туD4 =4G4л4 кD8Eт4лл874F88 (опDеделOетEO по пDо7D4G=оEт8) 

t°max <4кE8<4лL=ое 7=4Gе=8е те<пеD4туDK пDо5K пD8 кD8Eт4лл874F88 

�4т4 д4т4 6Kпол=е=8O 8EпKт4=8O 

4.6.1.2 �лO пDол8EтK64=8O 6уD=4л4 Dе7улLт4то6 6D4I4тL DуGку упD46ле=8O, длO 6KEод4 87 6уD-
=4л4 Dе7улLт4то6 =464тL [!топ]. 

4.6.1.3 �лO подDо5=о7о пDоE<отD4 6K5D4==о7о Dе7улLт4т4 =464тL [�уEк] (D8Eу=ок 13). 
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$��'�0&�& № 20

[�GE>] BF>DOFP :GDA4?
[!FBC] ;4>DOFP

[ 9:<@] 7D4H<>

�025@H5=> 19/06/12  16:22

$568< 02B><0B
"68405<0я t°=:, °% -65

�01>@0=B �20=>2 �20= �20=>28G

#@>10 &%-1

t°=:, °% /2@5<я -62.5 /0:59:05

t°7, °% /2@5<я -61.5 /1:09:16

t°min, °% /2@5<я ---

[   *   ] +/-10 (G89D:.)

t°max, °% /2@5<я ---

�0B0 :0;81@>2:8 19/06/21  11:36

 
 8Eу=ок 13 – Ок=о Dе7улLт4т4 

�4D4<етD �=4Gе=8е 

�Dо54 =48<е=о64=8е 8EпKтK64е<о7о пDодукт4 

 е68< «DуG=о9» – 8EпKт4=8е 6Kпол=е=о 6 DуG=о< Dе68<е, 
«46то<4т» – 8EпKт4=8е 6Kпол=е=о 6 46то<4т8GеEко< Dе68<е 

О68д4е<4O t°=к,°! пDедпол474е<4O те<пеD4туD4 =4G4л4 кD8Eт4лл874F88 пDодукт4 

t°=к,°! /6Dе<O те<пеD4туD4 8 6Dе<O =4G4л4 кD8Eт4лл874F88 (опDеделOетEO по пDо7D4G-
=оEт8) 

t°7,°! /6Dе<O те<пеD4туD4 8 6Dе<O 74<еD74=8O (опDеделOетEO по пDо7D4G=оEт8) 

t°min,°! /6Dе<O <8=8<4лL=4O те<пеD4туD4 пеDед кD8Eт4лл874F8е9 

t°max,°! /6Dе<O <4кE8<4лL=4O те<пеD4туD4 пD8 кD8Eт4лл874F88 

�46еDHе=о д4т4 8 6Dе<O 746еDHе=8O 8EпKт4=8O 

Л45оD4=т л45оD4=т, 6Kпол=O6H89 8EпKт4=8е 

�4т4 к4л85Dо6к8 д4т4 поEлед=е9 к4л85Dо6к8 по �!О 

4.6.1.4 �лO пDол8EтK64=8O Dе7улLт4т4 6D4I4тL DуGку упD46ле=8O; еEл8 поEле то7о к4к Dе7улLт4т 
5удет пDол8Eт4= до ко=F4, пDодол64тL 6D4I4тL DуGку упD46ле=8O, 5удет пок474= Eледу-
NI89 Dе7улLт4т. 

4.6.1.5 �лO пDоE<отD4 7D4D8к4 8EпKт4=8O =464тL [ е68<], длO 6о76D4т4 6 6уD=4л Dе7улLт4то6 – 

[�уEк], длO 6KEод4 6 Dе68< о68д4=8O – [!топ]. 
4.6.1.6 �8д д8EплеO пD8 пDоE<отDе 7D4D8к4 Dе7улLт4т4 пD86еде= =4 D8Eу=ке 14. 

$��'�0&�& № 20

-61.7

-66.5t°=:, °%:

t°7, °%:

[!FBC] ;4>DOFP

-65.8t°max, °%:

-66.5t°min, °%:

t°,°%

-60

-40

-20

0

403530252015105 t, <8=

0:42:25

D

0,2

0,4

0,6

0,8

[�GE>] D9;G?PF4F
[     *     ] t°,°C
[ 9:<@] @4ELF45

1

3

4

5

-66.5t° ?@>1O, °%: 0.08#@>7@. D:

2

7

8

6

 
 8Eу=ок 14 – Ок=о 7D4D8к4 Dе7улLт4т4 
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1ле<е=т ок=4 �оOE=е=8е 

1. =о<еD у=8к4лL=K9 =о<еD Dе7улLт4т4 

2. 6Dе<O Eоот6етEт6ует поло6е=8N куDEоD4 (3) 

3. куDEоD ук47K64ет =4 6K5D4==K9 длO пDоE<отD4 <о<е=т 6Dе<е=8 

4. кD864O пDо7D4G-
=оEт8 

 Mто9 кD86о9 Eоот6етEт6уNт подп8E8 =4 пD46о9 6еDт8к4лL=о9 оE8 7D4D8к4 

5. кD864O те<пеD4-
туDO 

 Mто9 кD86о9 Eоот6етEт6уNт подп8E8 =4 ле6о9 6еDт8к4лL=о9 оE8 7D4D8к4 

6. те<пеD4туD4 8 
пDо7D4G=оEтP 

пDо5O 

Eоот6етEт6уNт 7=4Gе=8O< те<пеD4туDK 8 пDо7D4G=оEт8 6 <о<е=т 6Dе<е=8, 
от<еGе==K9 куDEоDо< (3) 

7. кD8Eт4лл874F8O те<пеD4туD4 пDо5K, 74D8кE8Dо64==4O детектоD4<8 кD8Eт4лло6 

8. подEк47к8 =47=4Gе=8е к=опок 

�лO 87<е=е=8O <4EHт454 7D4D8к4: 
1) =464тL [ е68<]: подEк47к4 длO к=опк8 87<е=8тEO =4 «<4EHт45»; 

2) 6K5D4тL оEL, по котоDо9 тDе5уетEO 87<е=8тL <4EHт45 – =464тL [ * ]: подEк47к4 длO к=опк8 87-
<е=8тEO =4 =4764=8е <4EHт458Dуе<о9 оE8; 

3) 74д4тL тDе5уе<K9 <4EHт45 6D4Iе=8е< DуGк8 упD46ле=8O. 
�лO Eд6874 7D4D8к4: 
1) =464тL [ е68<]: подEк47к4 длO к=опк8 87<е=8тEO =4 «Eд687»; 

2) 6K5D4тL тDе5уе<уN тоGку 7D4D8к4, 6D4I4O DуGку упD46ле=8O; 
3) еEл8 8=теDеEуNI4O кD864O пD8 пDол8EтK64=88 6KEод8т 74 пDеделK ок=4 пDоE<отD4 7D4D8к4, 

=468<4тL [ * ] до поO6ле=8O кD86о9 6 ок=е пDоE<отD4. 
�лO 6о76D4т4 6 Dе68< пDоE<отD4 Dе7улLт4т4 =464тL [�уEк]. 
�лO 6KEод4 87 Dе68<4 пDоE<отD4 Dе7улLт4то6 =464тL [!топ]. 
4.6.2 �еG4тL Dе7улLт4то6 

4.6.2.1 �Eл8 л45оD4тоD8O оE=4Iе=4 подE8Eте<о9 5еEпDо6од=о7о 8=теDDе9E4 ЛинтеЛ® Л��К1, Dе-
7улLт4тK 46то<4т8GеEк8 5удут пеDед4=K 6 547у д4==KE по D4д8ок4=4лу. 

4.6.2.2 �лO пеDед4G8 Dе7улLт4то6 по 8=теDDе9Eу RS-232 =4 ко<пLNтеDе дол6=4 5KтL =4EтDое=4 
пDо7D4<<4-теD<8=4л (� �ЛО����� �, EтD4=8F4 23). �пп4D4т дол6е= 5KтL подклNGе= к 
ко<пLNтеDу Eт4=д4Dт=K< к45еле< RS-232 (поEт46лOетEO по допол=8телL=о<у 74к47у). �лO 
пеDед4G8 Dе7улLт4то6 8EпKт4=89 =4 ко<пLNтеD 6 Dе68<е о68д4=8O =464тL [ е68<], 6 
откDK6Hе<EO 7л46=о< <е=N 6K5D4тL пу=кт «�уD=4л Dе7улPт4то6» 8 =464тL [ е68<]: 6Eе 
Dе7улLт4тK, EоED4=U==Kе 6 п4<Oт8 4пп4D4т4, 5удут пеDед4=K =4 �К. 

4.7 �46еDHе=8е D45отO 

�оEле пDо6еде=8O 8EпKт4=8O =ео5Eод8<о оEуIеEт68тL EледуNI8е де9Eт68O: 

1) �K=утL 5лок теE=оло78GеEк89 8 74D8кE8Dо64тL е7о E=4Dу68 (D8Eу=ок 10); 

2) ОткDут8тL пDо58Dку, уд4л8тL 87 =ее пDодукт 8 пDо<KтL ее =еDD4Eо<. 
3) �76леGL Eп8Dт 87 54=8 пD8 по<оI8 HпD8F4. 
4) �KклNG8тL 4пп4D4т ту<5леDо< «!етP» (D8Eу=ок 1 =4 EтD4=8Fе 3, по78F8O 4). ОтклNG8тL 4пп4-

D4т от Eет8. 
4.8 �еDеGе=P 6о7<о6=OE =е8EпD46=оEте9 

4.8.1 �о7<о6=Kе =е8EпD46=оEт8 8 <етодK 8E уEтD4=е=8O пD86еде=K 6 т45л8Fе 7. 

 

 

                                                      
1 �оEт46лOетEO по отделL=о<у 74к47у. 



16 ��$ 2.772.020  1  

 

&45л8F4 7 – �о7<о6=Kе =е8EпD46=оEт8 8 <етодK 8E уEтD4=е=8O 

№ 

�48<е=о64=8е =е8E-
пD46=оEт8, 6=еH=ее 
пDоO6ле=8е, допол=8-
телP=Oе пD87=4к8 

�еDоOт=4O пD8G8=4  еко<е=д4F88 по уEтD4=е=8N 

1. 

�пп4D4т 6клNGе= 6 EетL, 
отEутEт6ует 8=д8к4F8O 
=4 д8Eплее, =ет Dе4к-
F88 =4 =464т8е к=опок 

пеDе7оDел8 пл46к8е 6Eт46к8 74<е=8тL пл46к8е 6Eт46к8 

2. 

�Dо54 =е оEл46д4етEO 
до тDе5уе<о9 те<пеD4-
туDK 

п4D4<етDK Eл4д47е=т4 =е Eо-
от6етEт6уNт д4==K< т45л8FK 
2 =4 EтD4=8Fе 2 

о5еEпеG8тL тDе5о64=8O т45л8FK 2 

3. 

Ло6=4O D8кE4F8O &�К 8 
&� 6 46то<4т8GеEко< 
Dе68<е 

4. о5<еD74=8е пDо58Dк8 

=4л8тL 6 OGе9ку 5лок4 оEл46де=8O 
G8EтK9 Mт8ло6K9 Eп8Dт (пD8<еD=о 
3,5 <л) 

5. 746KHе= поDо7 о5=4Dу6е-
=8O кD8Eт4лло6 

у<е=LH8тL 7=4Gе=8е п4D4<етD4 
«�Dо7D.кD8Eт4лл.,%» длO D8кE4F88 
&�К 8 п4D4<етD4 
«�Dо7D.74<еD74=8е,%» длO D8кE4-
F88 &� 6 <е=N допол=8телL=KE 
=4EтDоек (п.4.4 =4EтоOIе7о  Э) 

4. 

�е D8кE8DуNтEO &�К 8 &� 
6 46то<4т8GеEко< Dе-
68<е 

4. 74=86е= поDо7 о5=4Dу6е-
=8O кD8Eт4лло6 

у6ел8G8тL 7=4Gе=8е п4D4<етD4 
«�Dо7D.кD8Eт4лл.,%» длO D8кE4F88 
&�К 8 п4D4<етD4 
«�Dо7D.74<еD74=8е,%» длO D8кE4-
F88 &� 6 <е=N допол=8телL=KE 
=4EтDоек (п.4.4 =4EтоOIе7о  Э) 

5. кD8Eт4лл874F8O пDо8EEо-
д8т до доEт86е=8O о68д4-
е<о9 те<пеD4туDK 

у6ел8G8тL 7=4Gе=8е п4D4<етD4 
«О68д4е<4O t°=к» (п.4.4 =4EтоOIе7о 
 Э) 

5. 

Ло6=4O D8кE4F8O &MIN 8 
&MAX 6 46то<4т8GеEко< 
Dе68<е 

74=86е= поDо7 о5=4Dу6е=8O 
E4<оD47о7Dе64 

у6ел8G8тL 7=4Gе=8е п4D4<етD4 «!4-
<оD47о7Dе6,°!» (п.4.4 =4EтоOIе7о  Э) 

6. 

�е D8кE8DуNтEO TMIN 8 
TMAX 6 46то<4т8GеEко< 
Dе68<е 

4. 746KHе= поDо7 о5=4Dу6е-
=8O E4<оD47о7Dе64 

у<е=LH8тL 7=4Gе=8е п4D4<етD4 
«!4<оD47о7Dе6,°!» (п.4.4 =4EтоOIе7о 
 Э) 

5. кD8Eт4лл874F8O пDо8EEо-
д8т до доEт86е=8O о68д4-
е<о9 те<пеD4туDK 

у6ел8G8тL 7=4Gе=8е п4D4<етD4 
«О68д4е<4O t°=к» (п.4.4 =4EтоOIе7о 
 Э) 

7. 
�Dо54 <едле==о оEл4-
6д4етEO 

=едоEт4тоG=K9 D4EEод 8л8 
6KEок4O те<пеD4туD4 пDотоG-
=о9 6одK 

по=878тL те<пеD4туDу 8 у6ел8G8тL 
D4EEод пDотоG=о9 6одK 

4.8.2 �D8 пDоG8E =е8EпD46=оEтOE 6KклNG8тL 4пп4D4т, 6K6д4тL =е <е=ее 5 <8=ут 8 E=о64 6клN-
G8тL. �Eл8 =е8EпD46=оEтL по6тоDOетEO, о5D4I49теEL =4 пDедпD8Oт8е-877ото68телL (ко=т4кт=4O 
8=DоD<4F8O ук474=4 6 п4EпоDте ��$ 2.772.020 �!). 
4.8.3 �D8 поO6ле=88 дDу78E =е8EпD46=оEте9 8л8 пD8 по6тоD=о< поO6ле=88 6KHепеDеG8Eле=-
=KE о5D4I4тLEO =4 пDедпD8Oт8е–877ото68телL. 
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4.9 �е9Eт68O 6 QкEтDе<4лP=OE E8ту4F8OE 

�D8 поп4д4=88 68дкоEте9 8л8 поEтоDо==8E пDед<ето6 6=утDL 4пп4D4т4 =ео5Eод8<о: 

1) 6KклNG8тL 4пп4D4т =464т8е< ту<5леD4 «!етP» =4 пеDед=е< тоDFе (D8Eу=ок 1 =4 EтD4=8Fе 3, 

по78F8O 4); 

2) 6K=утL Eете6уN 68лку 87 Dо7етк8; 
3) E=OтL 74I8т=K9 ко6уE; 
4) уд4л8тL 68дкоEтL 8л8 поEтоDо==8е пDед<етK; 
5) уEт4=о68тL ко6уE =4 <еEто. 

� И�ЕЧА�ИЕ 
�лO уд4ле=8O 68дкоEт8 Dеко<е=дуетEO 8EполL7о64тL E64тK9 6о7дуE. Че< 5KEтDее 5удет уд4-
ле=4 68дкоEтL, те< 5олLHе 6еDоOт=оEтL EоED4=е=8O D45отоEпоEо5=оEт8 4пп4D4т4. ПоEле 
уд4ле=8O 68дкоEт8 4пп4D4т 6KдеD64тL =е <е=ее 16 G4Eо6 пеDед по6тоD=K< 6клNGе=8е<. 

4.10 �Eпо<о74телP=Oе Dу=кF88 

4.10.1 �4EтDо9к4 <одулO 5еEпDо6од=о9 E6O78 

4.10.1.1 �Eл8 л45оD4тоD8O о5оDудо64=4 подE8Eте<о9 5еEпDо6од=о9 E6O78 ЛинтеЛ® Л��К1, Dе7улL-
т4тK 8EпKт4=89, ED4=OI8еEO 6 M=еD7о=е7468E8<о9 п4<Oт8 4пп4D4т4, 5удут 46то<4т8GеEк8 
пеDед464тLEO по D4д8ок4=4лу =4 EеD6еD. �лO Mто7о 6 <е=N 4пп4D4т4 доEт4тоG=о =4EтDо8тL 

=о<еD к4=4л4 8 Eет8. 
4.10.1.2 � Dе68<е о68д4=8O =464тL [ е68<], 6 откDK6Hе<EO 7л46=о< <е=N пD8 по<оI8 DуGк8 

упD46ле=8O 8 к=опк8 [�уEк] 6K5D4тL пу=кт «�4EтDо9к8» ► «�еEпDо6од=4O E6O7P» – от-
кDоетEO <е=N =4EтDо9к8 <одулO 5еEпDо6од=о9 E6O78 (D8Eу=ок 15). 

��%#$"�"�!�3 %�3�0

[!FBC] ;4>DOFP

�5@A8я ZBee

!><5@ :0=0;0
!><5@ A5B8

[ 9:<@] <;@9A<FP

8

7

0E2341

 

 8Eу=ок 15 - �е=N =4EтDо9к8 <одулO 5еEпDо6од=о9 E6O78 

�оле �=4Gе=8е 

�еDE8O ZBee1 6еDE8O пDо7D4<<=о7о о5еEпеGе=8O <одулO 5еEпDо6од=о9 E6O78 

�о<еD к4=4л4 Dе7ул8DуетEO 6 д84п47о=е [0;13] 

�о<еD Eет8 Dе7ул8DуетEO 6 д84п47о=е [0;255] 

4.10.1.3 �D8 по<оI8 DуGк8 упD46ле=8O 8 кл4684туDK =4 п4=ел8 упD46ле=8O отDед4кт8Dо64тL п4-
D4<етDK «�о<еD к4=4л4» 8 «�о<еD Eет8» 6 Eоот6етEт688 E п4D4<етD4<8, 74д4==K<8 6 
подE8Eте<е ЛинтеЛ® Л��К1. �464тL [!топ] длO 6KEод4 87 <е=N. 

4.10.2 !еD68E=ое <е=N 

4.10.2.1 �лO 6Eод4 6 EеD68E=ое <е=N ED47у поEле 6клNGе=8O 4пп4D4т4 6о 6Dе<O ото5D46е=8O =4 
д8Eплее 747Dу7оG=о7о ок=4 =464тL [ е68<] (D8Eу=ок 16, EтD4=8F4 18). 

                                                      
1 �одулL поEт46лOетEO по отделL=о<у 74к47у. 
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%�$��%

[!FBC] ;4>DOFP

#5G0BP ?0@0<5B@>2
�02>4A:85 =0AB@>9:8
'40;8BP @57C;PB0BO
�0;81@>2:0

[�GE>] 6OCB?A<FP

&5AB >1>@C4>20=8я
►

�>ABC? ******

►
******

 
 8Eу=ок 16 - �е=N «!еD68E» 

�у=кт <е=N �=4Gе=8е 

�еG4тP п4D4<етDо6 пеDед4G4 =4 �К =4EтDоеG=KE коMDD8F8е=то6 4пп4D4т4 по RS-232 

�46одEк8е =4EтDо9к8 747Dу7к4 =4EтDоеG=KE коMDD8F8е=то6, 74д4==KE =4 746оде-

877ото68теле; пD8 Mто< теDONтEO 6Eе 66едU==Kе полL7о64теле< 
=4EтDо9к8 

'д4л8тP Dе7улPт4тO уд4ле=8е Dе7улLт4то6 87 п4<Oт8 4пп4D4т4 

К4л85Dо6к4 <е=N пDо6еDк8 8 к4л85Dо6к8 д4тG8к4 те<пеD4туDK пDо5K 

&еEт о5оDудо64=8O <е=N пDо6еDк8 д4тG8ко6 8 8Eпол=8телL=KE <еE4=87<о6 4пп4D4т4 

�оEтуп пеDеEод 6 Eлу6е5=ое <е=N (8EполL7уетEO EпеF84л8Eт4<8 746од4-

877ото68телO) 
 

5 &�%��Ч�!КО� О�!Л'������� 

�лO у6ел8Gе=8O EDок4 Eлу65K 4пп4D4т4 =ео5Eод8<о пDо6од8тL е7о теE=8GеEкое о5Eлу6864=8е. 
�еD8од8G=оEтL теE=8GеEко7о о5Eлу6864=8O 7468E8т от 8=те=E86=оEт8 8 уEло689 MкEплу4т4F88 4п-
п4D4т4.  

5.1 �опол=8телP=ое о5оDудо64=8е 8 <4теD84лO 

�еDеGе=L допол=8телL=KE <4теD84ло6 длO теE=8GеEко7о о5Eлу6864=8O 4пп4D4т4 пDедEт46ле= 6 
т45л8Fе 8. 

&45л8F4 8 – �еDеGе=L допол=8телL=KE <4теD84ло6  

�4теD84л �47=4Gе=8е 

!п8Dт Mт8ло6K9 оG8Eтк4 д8EплеO, коDпуE4 4пп4D4т4 от 747DO7=е=89; к4л85Dо6к4 
д4тG8к4 пDо5K !4лDетк4 EлопG4то-5у<46=4O  

Ко=Fе=тD8Dо64==K9 D4Eт6оD 
л8<о==о9 к8EлотK 1 л 

оG8Eтк4 D4д84тоDо6 

�еDеGе=L допол=8телL=о7о о5оDудо64=8O длO теE=8GеEко7о о5Eлу6864=8O 4пп4D4т4 пDедEт46ле= 
6 т45л8Fе 9. 

&45л8F4 9 – �еDеGе=L допол=8телL=о7о о5оDудо64=8O  
О5оDудо64=8е �84п47о= &оG=оEтP �47=4Gе=8е  еко<е=дуе<Oе !� 

&еD<о<етD от -80 до 0°! 0,3°! 
К4л85Dо6к4 д4тG8к4 

те<пеD4туDK пDо5K 

&еD<о<етD Л&�-� E д84-
<етDо< Iуп4 4,3 << 

5.2 О5I8е ук474=8O 8 <еDO 5е7оп4E=оEт8 

�D8 D45оте E 4пп4D4то< л45оD4=тK дол6=K 6Kпол=OтL тDе5о64=8O п.4.2 

5.3 �еDеGе=P опеD4F89 

�еDеGе=L опеD4F89 теE=8GеEко7о о5Eлу6864=8O пDедEт46ле= 6 т45л8Fе 10. 
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&45л8F4 10 – �еDеGе=L опеD4F89  

ОпеD4F8O �у=кт �еD8од8G=оEтP 

ОG8Eтк4 д8EплеO от 747DO7=е=89 
5.4 

по <еDе =ео5Eод8<оEт8, пD8 =4л8G88  
747DO7=е=89 ОG8Eтк4 коDпуE4 от 747DO7=е=89 

ОG8Eтк4 D4д84тоDо6 5.5 
=е Dе6е 1 D474 6 7од (пD8 6KEоко9 6UEткоEт8 6одK 
1 D47 6 3 <еEOF4) 

К4л85Dо6к4 д4тG8к4 те<пеD4ту-
DK пDо5K 

5.6 =е Dе6е од=о7о D474 6 7од 

К4л85Dо6к4 8 попD46к4 д4тG8к4 
те<пеD4туDK по �!О 

5.7 по <еDе =ео5Eод8<оEт8 

5.4 ОG8Eтк4 д8EплеO 8 коDпуE4 от 747DO7=е=89  

�о6еDE=оEтL д8EплеO 8 коDпуE 4пп4D4т4 пDот8D4тL по <еDе 747DO7=е=8O E4лDетко9, E<оGе==о9 6 

Mт8ло6о< Eп8Dте.  
5.5 ОG8Eтк4 D4д84тоDо6 

�D8 дл8телL=о9 MкEплу4т4F88 6о7<о6=о о5D47о64=8е отло6е=89 =4 6=утDе==8E по6еDE=оEтOE D4-
д84тоDо6. Это <о6ет пD86еEт8 к E=86е=8N пDо876од8телL=оEт8 8 д46е к 6KEоду 87 EтDоO теD<о-
MлектD8GеEк8E <одуле9.  еко<е=дуетEO =е Dе6е 1 D474 6 7од (пD8 6KEоко9 6UEткоEт8 6одK 1 D47 6 
3 <еEOF4) 74л864тL 6 D4д84тоDK ко=Fе=тD8Dо64==K9 D4Eт6оD л8<о==о9 к8EлотK 8 оEт46лOтL =4 
=оGL. �лO Mто7о: 

 отEоед8=8тL тDу5к8 E8л8ко=о6Kе <ед8F8=Eк8е от 6одопDо6од4 8 Eл8тL 6оду 87 D4д84тоDо6; 
 6о 6Eод=о9 Hл4=7 GеDе7 6оDо=ку 74л8тL 1 л D4Eт6оD4, =е допуEк4O 6о7дуH=KE пу7KDе9 (87 Eл86-

=о7о Hл4=74 6KтеGет около 0,5 л D4Eт6оD4); 

 пеDе64тL 6Eод=о9 8 6KEод=о9 тDу5к8 E8л8ко=о6Kе <ед8F8=Eк8е 8л8 под=OтL 8E ко=FK т4к8< 
о5D47о<, Gто5K 8EклNG8тL 6Kтек4=8е D4Eт6оD4; 

 оEт468тL D4Eт6оD 6 D4д84тоD4E =е <е=ее Gе< =4 8 G4Eо6, 74те< Eл8тL. 
 

5.6 К4л85Dо6к4 д4тG8к4 те<пеD4туDO пDо5O 

5.6.1 �е=N «К4л85Dо6к4» пDед=47=4Gе=о длO пDо6еDк8 8 коDDект8Dо6к8 пок474=89 6EтDое=-
=о7о 87<еD8телO те<пеD4туDK пDо5K; о=о 6K7K64етEO 87 <е=N «!еD68E» (п. 4.10.2 =4EтоOIе7о  Э) 

(D8Eу=ок 17). 

5.6.2 �K5D4тL пу=кт «К4л85Dо6к4» =464тL [�уEк] 8 66еEт8 п4DолL «37201» длO пеDеEод4 6 <е-
=N к4л85Dо6к8. 

[!FBC] ;4>DOFP
[�GE>] 6OCB?A<FP

�����$"��� ��&+��� #$"�/

&еD<оEт4т отклNGе=
'Eт46к4 ---

t° пDо5K,°! 24.26

k t° пDо5K 0.00449

b t° пDо5K -0.17

v t° пDо5K,°!/<8= -0.00

t° Eт4к4=4,°! 24.31

К4л85Dо6к4 по �!О ►

 
 8Eу=ок 17 - �е=N к4л85Dо6к8 д4тG8к4 те<пеD4туDK пDо5K 

�у=кт <е=N �=4Gе=8е 

&еD<оEт4т 6клNGе=8е 8 отклNGе=8е теD<оEт4т4 5лок4 оEл46де=8O (длO пеDеклNGе-
=8O Dе68<4 =464тL [�уEк]) 

'Eт46к4 74д4==4O те<пеD4туD4 Eт4к4=4 5лок4 оEл46де=8O (пD8 6клNGе==о< теD-
<оEт4те) 
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�у=кт <е=N �=4Gе=8е 

t° Eт4к4=4, °! текуI4O те<пеD4туD4 Eт4к4=4 5лок4 оEл46де=8O 

t° пDо5K, °! текуI4O те<пеD4туD4 пDо5K по пок474=8O< 6EтDое==о7о д4тG8к4 те<пеD4-
туDK пDо5K 

k t° пDо5K коMDD8F8е=т =4кло=4 длO д4тG8к4 те<пеD4туDK пDо5K 

b t° пDо5K коMDD8F8е=т E<еIе=8O длO д4тG8к4 те<пеD4туDK пDо5K 

v t° пDо5K,°!/<8= EкоDоEтL 87<е=е=8O те<пеD4туDK пDо5K 

К4л85Dо6к4 по �!О пеDеEод 6 <е=N к4л85Dо6к8 д4тG8к4 те<пеD4туDK пDо5K по �!О 

В�И�А�ИЕ 
�о 875е64=8е 6KEод4 4пп4D4т4 87 EтDоO =е 6клNG4тL теD<оEт4т 5е7 подклNGе=8O Eл4д47е=-
т4. 

5.6.3 �лO пDо6еDк8 пок474=89 д4тG8к4 пDо5K 6Kпол=8тL поEледо64телL=оEтL де9Eт689: 
1) =4л8тL 6 пDо58Dку G8EтK9 Mт8ло6K9 Eп8Dт до D8Eк8; 
2) уEт4=о68тL 6 пDо58Dку о5D47Fо6K9 теD<о<етD т4к8< о5D47о<, Gто5K е7о Gу6Eт68телL=4O G4EтL 

=4Eод8л4EL 6 Fе=тDе пDо5K; пD8 8EполL7о64=88 LTA-� Dеко<е=дуетEO по7Dу78тL ко=G8к 87<е-
D8телL=о7о Iуп4 =4 17<< =86е D8Eк8(D8Eу=ок 18): 

B5D4;JB6O= 
F9D@B@9FD

D<E>4
17 @@

 
 8Eу=ок 18 - Ко=тDолL 7лу58=K уEт4=о6к8 о5D47Fо6о7о теD<о<етD4 

3) подклNG8тL к 4пп4D4ту Eл4д47е=т (п. 4.4.4 =4EтоOIе7о  Э); 
4) откDKтL <е=N «К4л85Dо6к4» (доEтуп=о 6 <е=N «!еD68E», п. 4.10.2 =4EтоOIе7о  Э); 
5) 6K5D4тL пу=кт <е=N «&еD<оEт4т» 8 =464тL [�уEк] длO 6клNGе=8O теD<оEт4т4 – пD8 Mто< 

=4G=UтEO оEл46де=8е 8 пеDе<еH864=8е пDо5K; 
6) 74д4тL 7=4Gе=8е п4D4<етD4 «'Eт46к4» = «–20»; 

7) до6д4тLEO Eт458л874F88 те<пеD4туDK пDо5K по пок474=8O< о5D47Fо6о7о 8 6EтDое==о7о теD-
<о<етDо6 (п4D4<етD «v t° пDо5O,°!/<8=» дол6е= пD8=OтL 7=4Gе=8е <е=ее ±0,1; пD8 Mто< те<-
пеD4туD4 пDо5K ок46етEO =еEколLко 6KHе уEт46к8); 

8) E6еD8тL пок474=8O о5D47Fо6о7о теD<о<етD4 8 6EтDое==о7о 87<еD8телO (п4D4<етD «t° пDо-
5O,°!»): D4EEо6де=8е =е дол6=о пDе6KH4тL 7=4Gе=8O, ук474==о7о 6 т45л8Fе 4 =4 EтD4=8Fе 3 

плNE по7DеH=оEтL о5D47Fо6о7о теD<о<етD4. � пDот86=о< EлуG4е 87<е=8тL 7=4Gе=8е п4D4<етD4 
«t° пDо5O,°!» 6 Eоот6етEт688 E пок474=8O<8 о5D47Fо6о7о теD<о<етD4; 

9) 74д4тL 7=4Gе=8е п4D4<етD4 «'Eт46к4» = «–80»; 

10) до6д4тLEO Eт458л874F88 те<пеD4туDK пDо5K по пок474=8O< о5D47Fо6о7о 8 6EтDое==о7о теD-
<о<етDо6 (п4D4<етD «v t° пDо5O,°!/<8=» дол6е= пD8=OтL 7=4Gе=8е <е=ее ±0,1; пD8 Mто< те<-
пеD4туD4 пDо5K ок46етEO =еEколLко 6KHе уEт46к8); 

11) E6еD8тL пок474=8O о5D47Fо6о7о теD<о<етD4 8 6EтDое==о7о 87<еD8телO (п4D4<етD «t° пDо-
5O,°!»): D4EEо6де=8е =е дол6=о пDе6KH4тL 7=4Gе=8O, ук474==о7о 6  т45л8Fе 4 =4 EтD4=8Fе 3 

плNE по7DеH=оEтL о5D47Fо6о7о теD<о<етD4. � пDот86=о< EлуG4е 87<е=8тL 7=4Gе=8е п4D4<етD4 
«t° пDо5O,°!» 6 Eоот6етEт688 E пок474=8O<8 о5D47Fо6о7о теD<о<етD4; 

12) 6 EлуG4е Dед4кт8Dо64=8O п4D4<етDо6 6Kпол=8тL по6тоD=уN пDо6еDку. 
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5.7 К4л85Dо6к4 8 попD46к4 д4тG8к4 те<пеD4туDO по �!О 

5.7.1 �е=N «К4л85Dо6к4» пDед=47=4Gе=о длO пDо6еDк8 8 коDDект8Dо6к8 пок474=89 6EтDое=-
=о7о 87<еD8телO те<пеD4туDK пDо5K; о=о 6K7K64етEO 87 <е=N «!еD68E» (п. 4.10.2 =4EтоOIе7о  Э) 

(D8Eу=ок 17). 

5.7.2 �K5D4тL пу=кт «К4л85Dо6к4» =464тL [ е68<] 8 66еEт8 п4DолL «37201» длO пеDеEод4 6 
<е=N к4л85Dо6к8. 
5.7.3 �K5D4тL пу=кт «К4л85Dо6к4 по �!О» =464тL [�уEк], поEле Gе7о откDоетEO ок=о «К4л85-
Dо6к4 по �!О». 
5.7.4 О5=ул8тL п4EпоDт=Kе 8 87<еDе==Kе 7=4Gе=8O те<пеD4туDK длO 6EеE �!О. �K5D4тL пу=кт 
<е=N « 4EG8т4тP» 8 =464тL к=опку [�уEк], поEле Gе7о 5удет пDедло6е=о EоED4=8тL 87<е=е=8O. 
5.7.5 �K9т8 87 EеD68E=о7о <е=N 8 6Kпол=8тL 8EпKт4=8е Eо7л4E=о п.4.5.2.2. =4 6EеE пDо54E �!О, 

котоDKе 5удут уG4Eт6о64тL 6 к4л85Dо6ке.  

5.7.6 �о9т8 6 <е=N «К4л85Dо6к4» длO коDDект8Dо6к8 пок474=89 6EтDое==о7о 87<еD8телO 
те<пеD4туDK пDо5K по �!О (п. 4.10.2 =4EтоOIе7о  Э) (D8Eу=ок 17). 

5.7.7 �K5D4тL пу=кт «К4л85Dо6к4» =464тL [�уEк] 8 66еEт8 п4DолL «37201» длO пеDеEод4 6 <е-
=N к4л85Dо6к8. 
5.7.8 �K5D4тL пу=кт «К4л85Dо6к4 по �!О» =464тL [�уEк], поEле Gе7о откDоетEO ок=о «К4л85-
Dо6к4 по �!О». 

5.7.9 �6еEт8 п4EпоDт=Kе 8 87<еDе==Kе 7=4Gе=8O те<пеD4туDK длO �!О. �опD46к4 5удет оEу-
IеEт6лOтLEO толLко длO 6K5D4==о7о Dе68<4 детектоDо6 кD8Eт4лло6. �лO к46до7о Dе68<4 детек-
тоD4 кD8Eт4лло6 66одOтEO отделL=Kе попD46к8. 

[!FBC] ;4>DOFP
[�GE>] 6OCB?A<FP

�����$"��� #" �%"

�етектоD кD8Eт4лло6 пDо7D4G=оEтL
�!О 1 п4EпоDт=ое 0.0

0.0

0.0

0.0

0.0

�!О 1 87<еDе==ое 0.0

0.0

�!О 5 п4EпоDт=ое

�!О 4 п4EпоDт=ое
�!О 4 87<еDе==ое

�!О 3 п4EпоDт=ое
�!О 3 87<еDе==ое

�!О 2 п4EпоDт=ое
�!О 2 87<еDе==ое

0.0

0.0

[*] B5AG?<FP
[ 9:<@] <;@9A<FP

 
 8Eу=ок 19 - �е=N к4л85Dо6к8 д4тG8к4 те<пеD4туDK пDо5K по �!О 

�у=кт <е=N �=4Gе=8е 

�етектоD кD8Eт4лло6 6K5оD EпоEо54 о5=4Dу6е=8O кD8Eт4лло6 

�!О 1&5 п4EпоDт=ое п4EпоDт=Kе 7=4Gе=8O �!О  

�!О 1&5 87<еDе==ое 87<еDе==Kе 7=4Gе=8O �!О  

 4EEG8т4тL D4EGет попD46к8 по �!О 

5.7.10 �K5D4тL пу=кт <е=N « 4EEG8т4тP» 8 =464тL к=опку [�уEк], поEле Gе7о 5удет пDедло6е=о 
EоED4=8тL 87<е=е=8O. �Eл8 кол8GеEт6о �!О 5олLHе 3-E, то 5удут пок474=K откло=е=8O.  
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6 % ������ � & ��!�О &� О����� 

6.1 %D4=е=8е 

6.1.1 'Eло68O ED4=е=8O 4пп4D4т4 6 G4Eт8 6о7де9Eт68O кл8<4т8GеEк8E D4ктоDо6 дол6=K Eоот-
6етEт6о64тL 7Dуппе «Л» �О!& 15150-69. 

6.1.2 �пп4D4т дол6е= ED4=8тLEO 6 74кDKтKE от4пл864е<KE по<еIе=8OE 6 уп4ко6ке =4 Eтелл4-
64E, =е под6еD74NI8EEO 685D4F8O< 8 уд4D4<. 
6.1.3 �пп4D4т дол6е= ED4=8тLEO пD8 те<пеD4туDе 6о7дуE4 от 5 °! до 40 °! 8 от=оE8телL=о9 
6л46=оEт8 6о7дуE4 80 % пD8 +25 °!. 
6.1.4 %D4=е=8е 4пп4D4т4 5е7 уп4ко6к8 =е допуEк4етEO. 
6.1.5 !Dок ED4=е=8O 4пп4D4т4 6 лет. 
6.1.6 �пп4D4т ко=EеD68DуетEO Eо7л4E=о 64D84=ту �3-10 �О!& 9.014-78, 64D84=т уп4ко6к8 – �'-5. 

6.1.7 �Eл8 поEле D4Eп4ко6K64=8O 4пп4D4т =е пD8<е=OлEO по E6ое<у пDO<о<у =47=4Gе=8N, то 
ED4=8тL е7о =ео5Eод8<о 6 GеEле 87 пол8Mт8ле=4 �О!& 10354-82. 

6.2 &D4=EпоDт8Dо64=8е 

6.2.1 'Eло68O тD4=EпоDт8Dо64=8O 4пп4D4т4 6 G4Eт8 6о7де9Eт68O кл8<4т8GеEк8E D4ктоDо6 
дол6=K Eоот6етEт6о64тL 7Dуппе уEло689 ED4=е=8O 5 (О�4) по �О!& 15150-69. 

6.2.2 �пп4D4т D47DеH4етEO тD4=EпоDт8Dо64тL 6Eе<8 68д4<8 тD4=EпоDт4 6 кDKтKE тD4=EпоDт=KE 
EDедEт64E (4684F8о==K< тD4=EпоDто< 6 от4пл864е<KE 7еD<ет878Dо64==KE отEек4E) =4 лN5ое D4E-
EтоO=8е. 
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� �ЛО����� �. �� ���Ч� ����/% �О RS-232 

 

�1 О5I8е поло6е=8O 

�лO пеDед4G8 д4==KE E 4пп4D4т4 =4 пеDEо=4лL=K9 ко<пLNтеD (�К) по 8=теDDе9Eу RS-232, �К 
дол6е= 5KтL о5оDудо64=: 
1) поDто< RS-232 DB9M (6 =4EтоOIее 6Dе<O 6EтDеG4етEO Dедко), 4пп4D4т подклNG4етEO к45еле< 

RS232 DB9F – DB9M (удл8=8телL <KH8, 6 ко<плект поEт46к8 =е 6Eод8т); 
2) поDто< USB, то7д4 4пп4D4т подклNG4етEO GеDе7 пDео5D47о64телL 8=теDDе9Eо6 USB – RS-232, 

=4пD8<еD, «TRENDnet TU-S9» (т4к6е <о6ет потDе5о64тLEO к45елL RS-232 DB9F – DB9M длO 
удл8=е=8O, пDео5D47о64телL 8 к45елL 6 ко<плект поEт46к8 =е 6EодOт). 

&4к6е =4 �К дол6=4 5KтL уEт4=о6ле=4 пDо7D4<<4-теD<8=4л. � д4==о< Dуко6одEт6е оп8E4=4 
=4EтDо9к4 пDо7D4<<K «PuTTY». 

!тD4=8F4 пDо7D4<<K 6 Eет8: «www.putty.org» 

!EKлк4 длO Eк4G864=8O: «http://the.earth.li/~sgtatham/putty/latest/x86/putty.exe». 
�Dо7D4<<4 =е тDе5ует уEт4=о6к8 8 <о6ет 5KтL 74пуIе=4 ED47у поEле Eк4G864=8O. � д4==о< пD8-
<еDе поEле Eк4G864=8O пDо7D4<<4 по<еIе=4 6 п4пку «C:\Program files (x86)\PuTTY». $4кт8GеEкое 
D47<еIе=8е пDо7D4<<K опDеделOетEO удо5Eт6о< д4лL=е9Hе7о 8EполL7о64=8O. 
�2 �4EтDо9к4 пDо7D4<<O 

�2.1 ОпDеделе=8е поDт4 

�еDед =4EтDо9ко9 пDо7D4<<K тDе5уетEO опDедел8тL =о<еD поDт4, к котоDо<у подклNGе= 4пп4D4т. 

�лO Mто7о =4 кл4684туDе �К од=о6Dе<е==о =464тL к=опк8  8  – откDоетEO пDо7D4<<4 
«�Oпол=8тP» (D8Eу=ок �2.1). 

 

 
 8Eу=ок �2.1 – �Dо7D4<<4 «�Oпол=8тP» 

 

� текEто6о< поле =45D4тL «devmgmt.msc» 8 =464тL [OK] – откDоетEO д8EпетGеD уEтDо9Eт6 (D8Eу-
=ок �2.2). 
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 8Eу=ок �2.2 – �8EпетGеD уEтDо9Eт6 

 

� D47деле «�оDтO (COM 8 LPT)» =49т8 =о<еD поDт4, к котоDо<у подклNGе= к45елL: 6 EлуG4е пDе-
о5D47о64телO TRENDnet TU-S9 поDт 5удет =47K64тLEO «Profilic USB-to-Serial Comm Port (COMX)», 

7де COM% – 8Eко<K9 =о<еD поDт4. �D8 отклNGе=88 пDео5D47о64телO от D47JU<4 USB поDт пDоп4-
дUт 87 Eп8Eк4 уEтDо9Eт6, пD8 подклNGе=88 поO68тEO 6=о6L. !ледует 6Eе7д4 подклNG4тL пDео5D4-
7о64телL 6 од8= 8 тот 6е поDт USB, т4к к4к 6 пDот86=о< EлуG4е <е=OетEO =о<еD поDт4 8 =4EтDо9ку 
пD8дUтEO 6Kпол=8тL по6тоD=о. 
�Eл8 ко<пLNтеD о5оDудо64= поDто< RS-232 8 4пп4D4т подклNG4етEO 5е7 пDео5D47о64телO USB – 

RS-232, опDедел8тL =о<еD поDт4 <о6=о толLко опKт=K< путU<, =4EтD4864O пDо7D4<<у поEледо-
64телL=о =4 6Eе поDтK «COM» 87 Eп8Eк4 уEтDо9Eт6 (6 =4764=88 поDт4 =е дол6=о пD8EутEт6о64тL 
«USB»). 

�2.2 �4EтDо9к4 подклNGе=8O  
�4пуEт8тL пDо7D4<<у «PuTTY», 74д4тL =4EтDо9к8 =4 6кл4дке «Session › Logging» (D8Eу=ок �2.3). 
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 8Eу=ок �2.3 – �Dо7D4<<4 «PuTTY» 

 

«D:\log\putty.log» – путL ED4=е=8O д4==KE, пD8=OтKE E 4пп4D4т4. �4D4<етD <о6ет 5KтL 87<е=U= 
пD8 =ео5Eод8<оEт8. 
�4д4тL =4EтDо9к8 =4 6кл4дке «Terminal» (D8Eу=ок �2.4). 

 

 
 8Eу=ок �2.4 – �4д4=8е =4EтDоек 
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�4д4тL =4EтDо9к8 =4 6кл4дке «Window › Translation» (D8Eу=ок �2.5). 

 

 
 8Eу=ок �2.5 – �4д4=8е =4EтDоек 

 

ОткDKтL 6кл4дку «Connection › Serial» (D8Eу=ок �2.6). 

 

 
 8Eу=ок �2.6 

'к474тL =о<еD поDт4, опDеделU==K9 D4=ее 6 пу=кте �2.1 =4EтоOIе7о пD8ло6е=8O (6 пD8<еDе Mто 
поDт COM8). 

�4EтDо8тL оEт4лL=Kе п4D4<етDK Eоед8=е=8O: 
 Speed   57600; 

 Data bits   8; 

 Stop bits 1; 

 Parity   None; 

 Flow control   XON/XOFF. 
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ОткDKтL 6кл4дку «Session» (D8Eу=ок �2.7). 

 

 
 8Eу=ок �2.7 – �кл4дк4 «Session» 

 

�K5D4тL т8п подклNGе=8O «Serial», д4тL =4764=8е Eоед8=е=8N 6 Eоот6етEт688 E =о<еDо< поDт4 8 
EкоDоEтLN пеDед4G8 д4==KE (6 д4==о< пD8<еDе Mто «COM_8_57600») 8 =464тL к=опку [Save]. 

�4кDKтL пDо7D4<<у «PuTTY». 

� E6о5од=о9 о5л4Eт8 D45оGе7о Eтол4 =464тL пD46уN к=опку <KH8, 6 ко=текEт=о< <е=N 6K5D4тL 
пу=кт «!о7д4тP › /DлOк» (D8Eу=ок �2.8). 

 

 
 8Eу=ок �2.8 – �K5оD пу=кт4 
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ОткDоетEO д84ло7о6ое ок=о (D8Eу=ок �2.9). 

 

 
 8Eу=ок �2.9 – �84ло7о6ое ок=о 

 

� текEто6о< поле =45D4тL путL к D4Eполо6е=8N пDо7D4<<K 8 GеDе7 пDо5ел п4D4<етD «-load 

<COM_8_57600=», 7де «COM_8_57600» – =4764=8е Eоед8=е=8O, EоED4=U==о7о пD8 =4EтDо9ке пDо-
7D4<<K «PuTTY». �4764=8е Eоед8=е=8O дол6=о 5KтL 74клNGе=о 6 к46KGк8. �Eл8 6 пут8 D4Eполо-
6е=8O пDо7D4<<K еEтL пDо5елK, то путL т4к6е =ео5Eод8<о 74клNG8тL 6 к46KGк8. � д4==о< пD8-
<еDе 6 текEто6о< поле 66еде=о 7=4Gе=8е «=C:\Program Files (x86)\PuTTY\putty.exe= -load 

<COM_8_57600=». 

�464тL [�4лее] – откDоетEO EледуNIее ок=о (D8Eу=ок �2.10): 

 

 
 8Eу=ок �2.10 

 

� текEто6о< поле YYYY 66еEт8 =4764=8е ODлKк4, удо5=ое длO д4лL=е9Hе7о пD8<е=е=8O.  
�464тL [�ото6о] длO 746еDHе=8O =4EтDо9к8 ODлKк4. 
&епеDL пDо7D4<<4 PuTTY <о6ет 5KтL 74пуIе=4 д6о9=K< IелGко< по ODлKку (D8Eу=ок �2.11). 
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 8Eу=ок �2.11 

 

�D8 подклNGе=88 4пп4D4т4 8 74пуEке пеDед4G8 6 откDK6Hе<EO ок=е 5удут 6K6од8тLEO пD8=8<4-
е<Kе д4==Kе. О=8 46то<4т8GеEк8 EоED4=ONтEO 6 D49л, ук474==K9 пD8 =4EтDо9ке Eоед8=е=8O. �лO 
746еDHе=8O пD8U<4 д4==KE 74кDKтL пDо7D4<<у PuTTY к=опко9 [E] 6 6еDE=е< пD46о< у7лу ок=4. 
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� �ЛО����� �.  ���К&� О����� !��!КО� 

 

!п8Eк8 «�Dо54» 8 «Л45оD4=т» <о7ут 5KтL отDед4кт8Dо64=K: <о6=о до546лOтL, 87<е=OтL 8 уд4-
лOтL Mле<е=тK Eп8Eк4. 
� Eп8Eке од=о6Dе<е==о <о6ет ED4=8тLEO до 10 Mле<е=то6 (6 Eп8Eке пDо5 – до 100); к46дK9 Mле-
<е=т Eп8Eк4 <о6ет 8<етL дл8=у до 20 E8<6оло6. 
�еD6о=4G4лL=о Eп8Eк8 пуEтKе – о=8 74пол=ONтEO полL7о64теле< по <еDе =ео5Eод8<оEт8. 
�1 �о546ле=8е 6 Eп8Eок л45оD4=то6 7=4Gе=8O «�. �. �64=о64» 

�1.1 � <е=N «'Eло68O 8EпOт4=8O» по6еD=утL DуGку упD46ле=8O по G4Eо6о9 EтDелке длO 6K5оD4 
пу=кт4 «Л45оD4=т» 8 =464тL [�уEк] – откDоетEO Eп8Eок л45оD4=то6 (6 д4==о< пD8<еDе Eп8Eок Eо-
деD68т од=о 7=4Gе=8е «�. !. �етDо64») (D8Eу=ок �1.1). 

 

 
 8Eу=ок �1.1 – !п8Eок л45оD4=то6 

 

�1.2 �о6еD=утL DуGку упD46ле=8O по G4Eо6о9 EтDелке длO 6K5оD4 пуEто7о Mле<е=т4 Eп8Eк4 8 
=464тL [ е68<] – 4кт868DуетEO текEто6K9 Dед4ктоD 6 Dе68<е пеDе<еIе=8O куDEоD4 (D8Eу=ок 
�1.2). 

 

#�$� �-�!�� �'$%"$�

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP

[ 9:<@]
[     *     ]

89=EF6<9
6EF46<FP E<@6.

�. %. #5B@>20

 
 8Eу=ок �1.2 – &екEто6K9 Dед4ктоD 

 

�1.3 �464тL [ * ] длO 6Eт46к8 E8<6ол4 87 текуIе7о =45оD4 (747л46=Kе 5ук6K к8D8лл8FK) (D8Eу=ок 
�1.3). 
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[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP

[ 9:<@]
[     *     ]

89=EF6<9
CB8F69D8<FP

�. %. #5B@>20
 ������Ё������ !"#$%&'()*+,-./0123

                    

 
 8Eу=ок �1.3 – �Eт46к4 E8<6ол4 

 

�1.4 �о6еD=утL DуGку упD46ле=8O длO 6K5оD4 E8<6ол4 «A» (D8Eу=ок �1.4). 
 

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP

[ 9:<@]
[     *     ]

89=EF6<9
CB8F69D8<FP

�. %. #5B@>20
 ������Ё������ !"#$%&'()*+,-./0123

�                   

 
 8Eу=ок �1.4 – �K5оD E8<6ол4 «A» 

 

�1.5 �464тL [ * ] длO подт6еD6де=8O. 
�1.6 &4к8< 6е о5D47о<, к4к 6 п. �1.4, �1.5, отDед4кт8Dо64тL Mле<е=т Eп8Eк4 до 7=4Gе=8O «���» 

(D8Eу=ок �1.5). 
 

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP

[ 9:<@]
[     *     ]

89=EF6<9
CB8F69D8<FP

�. %. #5B@>20
 ������Ё������ !"#$%&'()*+,-./0123

���

 
 8Eу=ок �1.5  

 

�1.7 �464тL [ е68<] длO E<е=K Dе68<4 Dед4ктоD4 8 по6еD=утL DуGку упD46ле=8O длO 6K5оD4 
=45оD4 EтDоG=KE 5ук6 к8D8лл8FK (D8Eу=ок �1.6). 
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���%&���: �/�$�&0 !��"$ <456789ё:...=

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP[     *     ] 6O5D4FP

�. %. #5B@>20
���                 

 
 8Eу=ок �1.6 - �K5оD =45оD4 EтDоG=KE 5ук6 к8D8лл8FK 

 

�1.8 �464тL [ * ] длO подт6еD6де=8O 6K5оD4. 
�1.9 &4к8< 6е о5D47о<, к4к 6 п. �1.4, �1.5, отDед4кт8Dо64тL Mле<е=т Eп8Eк4 до 7=4Gе=8O «���64-
=о64». 

�1.10 �464тL [ е68<] длO E<е=K Dе68<4 8 по6еD=утL DуGку упD46ле=8O длO 6K5оD4 Dе68<4 пе-
Dе<еIе=8O куDEоD4 (D8Eу=ок �1.7). 
 

���%&���: #�$� �%&�&0 �'$%"$

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP[     *     ] 6O5D4FP

�. %. #5B@>20
���20=>20           

 
 8Eу=ок �1.7 - �K5оD Dе68<4 пеDе<еIе=8O куDEоD4 

 

�1.11 �464тL [ * ] длO подт6еD6де=8O. 
�1.12 �о6еD=утL DуGку упD46ле=8O длO уEт4=о6к8 куDEоD4 <е6ду пеD6о9 8 6тоDо9 по78F8O<8 (D8-
Eу=ок �1.8). 

#�$� �-�!�� �'$%"$�

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP[     *     ] 6EF46<FP E<@6.

�. %. #5B@>20
���20=>20           

[ 9:<@] 89=EF6<9
 

 8Eу=ок �1.8 – �еDе<еIе=8е куDEоD4 

 

�1.13 �464тL [ е68<] длO E<е=K Dе68<4 Dед4ктоD4 8 по6еD=утL DуGку упD46ле=8O длO 6K5оD4 
=45оD4 F8DD 8 допол=8телL=KE E8<6оло6 (D8Eу=ок �1.9). 
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���%&���: �/�$�&0 !��"$ <0123456789+...=

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP[     *     ] 6O5D4FP

�. %. #5B@>20
���20=>20           

 
 8Eу=ок �1.9 – �K5оD =45оD4 F8DD 8 допол=8телL=KE E8<6оло6 

 

�1.14 �464тL [ * ] длO подт6еD6де=8O 8 по6еD=утL DуGку упD46ле=8O длO 6K5оD4 E8<6ол4 «.» (D8-
Eу=ок �1.10). 

 

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP

�. %. #5B@>20

 0123456789.,+-:*/|()[]{}<>'°

�.��20=>20          

[     *     ] CB8F69D8<FP
[ 9:<@] 89=EF6<9

 
 8Eу=ок �1.10 – �K5оD E8<6ол4 «.» 

 

�1.15 �464тL [ * ] длO подт6еD6де=8O. 
�1.16 &4к8< 6е о5D47о<, к4к 6 п. �1.10 – �1.15, 6Eт468тL тоGку <е6ду E8<6ол4<8 «�» 8 «�» (D8Eу-
=ок �1.11). 
 

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP

�. %. #5B@>20

 0123456789.,+-:*/|()[]{}<>'°

�. �. �20=>20          

[     *     ] CB8F69D8<FP
[ 9:<@] 89=EF6<9

 
 8Eу=ок �1.11 – �Eт46к4 тоGк8 <е6ду E8<6ол4<8 «�» 8 «�» 

 

�1.17 �464тL [�уEк] длO EоED4=е=8O Mле<е=т4 Eп8Eк4 8 6KEод4 87 Dед4ктоD4 – 6 Eп8Eке поO68тEO 
Mле<е=т «�. �. �64=о64» (D8Eу=ок �1.12). 
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���"$�!&

[�GE>]
[!FBC]

6O5D4FP
BF@9A<FP

[ 9:<@] <;@9A<FP

�. %. #5B@>20
�. �. �20=>20

 
 8Eу=ок �1.12  

 

�2 �7<е=е=8е 7=4Gе=8O «�. !. �етDо64» =4 «�. �. �етDо64» 

�2.1 � откDKто< Eп8Eке л45оD4=то6 6D4Iе=8е< DуGк8 упD46ле=8O 6K5D4тL «�. !. �етDо64» 8 
=464тL [ е68<] длO 4кт864F88 Dед4ктоD4 (D8Eу=ок �2.1). 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

 8Eу=ок �2.1  

 

�2.2 �464тL [ е68<] длO E<е=K Dе68<4 8 по6еD=утL DуGку упD46ле=8O длO 6K5оD4 Dе68<4 74<е-
=K E8<6ол4 (D8Eу=ок �2.2). 
 

 

 

 

 

 

 

 

 

 

 

 

 

 8Eу=ок �2.2 - �K5оD Dе68<4 74<е=K E8<6ол4 

 

�2.3 �464тL [ * ] длO 74<е=K E8<6ол4 под куDEоDо<, по6еD=утL DуGку упD46ле=8O длO 6K5оD4 
E8<6ол4 «�» (D8Eу=ок �2.3). 
 

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP[     *     ] 6EF46<FP E<@6.

�. �. �20=>20
�. %. #5B@>20       

#�$� �-�!�� �'$%"$�

[ 9:<@] 89=EF6<9

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP[     *     ] 6O5D4FP

�. �. �20=>20

���%&���: �� �!�&0 %� �"�

�. %. #5B@>20       
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 8Eу=ок �2.3 - �K5оD E8<6ол4 «�» 

 

�2.4 �464тL [ * ] длO подт6еD6де=8O. 
�2.5 �464тL [ е68<] длO E<е=K Dе68<4, по6еD=утL DуGку упD46ле=8O длO 6K5оD4 =45оD4 F8DD 8 
допол=8телL=KE E8<6оло6 (D8Eу=ок �2.4). 
 

 

 

 

 

 

 

 

 

 

 

 

 

 8Eу=ок �2.4 - �K5оD =45оD4 F8DD 8 допол=8телL=KE E8<6оло6 

 

�2.6 �464тL [ * ] длO подт6еD6де=8O. 
�2.7 �о6еD=утL DуGку упD46ле=8O длO 6K5оD4 E8<6ол4 «.» (D8Eу=ок �2.5). 
 

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP[     *     ] CB8F69D8<FP

�. �. �20=>20
!. %. #5B@>20       

 0123456789.,+-:*/|()[]{}<>'°

[ 9:<@] 89=EF6<9

.

 
 8Eу=ок �2.5 - �K5оD E8<6ол4 «.» 

 

�2.8 �464тL [ * ] 2 D474 (D8Eу=ок �2.6). 
 

 

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP[     *     ] CB8F69D8<FP

�. �. �20=>20

 ������Ё������ !"#$%&'()*+,-./0123

[ 9:<@] 89=EF6<9

!. %. #5B@>20       

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP[     *     ] 6O5D4FP

���%&���: �/�$�&0 !��"$ <0123456789+...=

�. �. �20=>20
!  %. #5B@>20       
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[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP[     *     ] CB8F69D8<FP

�. �. �20=>20
!.  . #5B@>20       

 0123456789.,+-:*/|()[]{}<>'°

[ 9:<@] 89=EF6<9
 

 8Eу=ок �2.6 

 

�2.9 �464тL [ е68<] длO E<е=K Dе68<4 8 по6еD=утL DуGку упD46ле=8O длO 6K5оD4 =45оD4 74-
7л46=KE 5ук6 к8D8лл8FK (D8Eу=ок �2.7). 
 

���%&���: �/�$�&0 !��"$ <������Ё�...=

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP[     *     ] 6O5D4FP

�. �. �20=>20
!.  . #5B@>20       

 
 8Eу=ок �2.7 - �K5оD =45оD4 747л46=KE 5ук6 к8D8лл8FK 

 

�2.10 �464тL [ * ] длO подт6еD6де=8O 8 по6еD=утL DуGку упD46ле=8O длO 6K5оD4 E8<6ол4 «�» ( 

D8Eу=ок �2.8). 

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP[     *     ] CB8F69D8<FP

�. �. �20=>20
!. �. #5B@>20       

 ������Ё������ !"#$%&'()*+,-./0123

[ 9:<@] 89=EF6<9

�

 
 8Eу=ок �2.8 - �K5оD E8<6ол4 «�» 

 

�2.11 �464тL [�уEк] длO EоED4=е=8O Mле<е=т4 Eп8Eк4 8 6KEод4 87 Dед4ктоD4 (D8Eу=ок �2.9). 
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 8Eу=ок �2.9  
 

�3 'д4ле=8е 7=4Gе=8O «�. �. �64=о64» 

�3.1 � откDKто< Eп8Eке л45оD4=то6 6D4Iе=8е< DуGк8 упD46ле=8O 6K5D4тL «�. �. �64=о64» 8 
=464тL [ е68<] длO 4кт864F88 Dед4ктоD4 8 по6еD=утL DуGку упD46ле=8O по G4Eо6о9 EтDелке длO 
уEт4=о6к8 куDEоD4 6 ко=еF Mле<е=т4 (D8Eу=ок �3.1). 

 
 
 
 
 
 
 
 
 
 
 
 
 

 8Eу=ок �3.1 – 'Eт4=о6к4 куDEоD4 6 ко=еF Mле<е=т4 
 

�3.2 �464тL [ е68<] длO E<е=K Dе68<4 8 по6еD=утL DуGку упD46ле=8O длO 6K5оD4 Dе68<4 уд4-
ле=8O E8<6ол4 (D8Eу=ок �3.2). 
 

 

 

 

 

 

 

 

 

 

 

 

 8Eу=ок �3.2 - �K5оD Dе68<4 уд4ле=8O E8<6ол4 

 

�3.3 �464тL [ * ] длO подт6еD6де=8O 8 по6еD=утL DуGку упD46ле=8O пDот86 G4Eо6о9 EтDелк8 длO 
уд4ле=8O 6EеE E8<6оло6 (D8Eу=ок �3.3). 
 

���"$�!&

[�GE>]
[!FBC]

6O5D4FP
BF@9A<FP

[ 9:<@] <;@9A<FP

!. �. #5B@>20
�. �. �20=>20

[�GE>]
[!FBC]

EBID4A<FP
BF@9A<FP[     *     ] 6EF46<FP E<@6.

�. �. �20=>20       
�. %. #5B@>20       
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 8Eу=ок �3.3  
 

�3.4 �464тL [�уEк] длO EоED4=е=8O 87<е=е=89 8 6KEод4 87 Dед4ктоD4. 
� Eп8Eке оEт4=етEO толLко од=о 7=4Gе=8е «�. �. �етDо64» (D8Eу=ок �3.4). 

 

���"$�!&

[�GE>]
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 8Eу=ок �3.4 

 

�3.5 �464тL [!топ] 2 D474 длO 6KEод4 6 Dе68< о68д4=8O. 
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